(3) BRAIEHRR
DO=BtFE (S0, : ARIE)

Al N N
E o 5E S HN34E S HNA4E Bt
B 4R 58 68 78 8H 98 108 118 | 128 1A 28 38
AHBIE B % 30 31 29 31 31 30 31 30 30 31 28 31 363
L = 7Bl 7E B 713 739 710 739 738 715 739 712 733 739 665 137 8679
= @ A FE41E (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.002 0.002 0.001 0.003 0.003 0.002 O0.001
;g; f; 1 BRRMEAN0. 1ppm#E 42 % 1= B R4 0 0 0 0 0 0 0 0 1 1 1 0 3
B 2 B THIEA. 0dppmE X 1= BHK 0 0 0 0 0 0 0 0 0 0 0 0 0
Fr | 1 EERE DR S{E (ppm) 0.023) 0.010 0.008 0.019 0.012 0.023 0.079 0.056 0.106 0.103 0.121| 0.052 0.121
H FHED & 1E (ppm) 0.003 0.002 0.001 0.003 0.002 0.004 0.009 0.010 0.010 0.014 0.016 0.008 0.016
EAIEBR 30 31 29 31 31 30 31 29 31 31 28 31 363
IE A R R 714 739 709 739 738 715 739 706 739 738 668 738 8682
it ft] B E¥41E (ppm) 0.001| 0.001 0.001 0.000 0.000 0.001 0.001 0.001 0.003 0.003 0.002 0.002 0.001
3] g 1 BSFEEAN. 1ppm# 42 % 1= BEFEI %K 0 0 0 0 0 0 0 0 0 0 0 0 0
i = HFE{EA0. 04ppmZ B % 7= H#K 0 0 0 0 0 0 0 0 0 0 0 0 0
# 1 EREHEOSSIE (opm) 0.011 0.025 0.014 0.008 0.013 0.021 0.024 0.031 0.070 0.044 0.026 0.016 0.070
BEHED RS E (ppm) 0.002| 0.004 0.002 0.002 0.002 0.003 0.004 0.008 0.014 0.014 0.009 0.006 0.014
ABIE B % 30 31 29 31 31 30 31 29 30 31 28 31 362
it 7Bl 7E B 713 137 706 739 738 715 738 710 734 738 665 738 8671
E E A FEHIE (pm) 0.002 0.002 0.002 0.002 0.002 0.002 0.003 0.003 0.004 0.004 0.004 0.002 0.003
[ R 1 EREEAN. 1ppmZE 8 % =Rk 0 0 0 0 0 0 0 0 0 0 0 0 0
M BEEM0. 0dppmE B2 - B 0 0 0 0 0 0 0 0 0 0 0 0 0
AT 1 BfE{ED &S E (ppm) 0.053] 0.029 0.032 0.045 0.026/ 0.029 0.056 0.055 0.080 0.052 0.041| 0.026 0.080
HEHEDRESIE (ppm) 0.007 0.007 0.007 0.007 0.006 0.005 0.014 0.010 0.014 0.013 0.013 0.007 0.014
EAIEB 30 31 29 31 31 30 31 29 31 31 28 31 363
IE A R R 714 739 704 739 737 715 738 708 738 738 666 737 8673
it E B E¥1E (ppm) 0.001| 0.001 0.001 0.001 0.001 0.001 0.003 0.003 0.004 0.005 0.003 0.002 0.002
3] ; 1 BSFEEAN. 1ppm# 42 % 1= BEFEI %K 0 0 0 0 0 0 0 0 0 0 0 0 0
i = HFEH{EA0. 04ppmZ 8 % 7= H#K 0 0 0 0 0 0 0 0 0 0 0 0 0
# 1 EREHEOSSIE (opm) 0.017 0.011 0.021 0.014 0.021 0.034 0.059 0.074 0.057 0.058 0.028 0.028 0.074
BEHED RS E (ppm) 0.003| 0.003 0.002 0.002 0.003 0.003 0.016/ 0.015 0.014 0.014 0.010, 0.004 0.016
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3 - -
;ﬁT E o SH34E SHA4E -
: 48 58 68 18 | 8@ 98 108 1A | 128 1A 28 | 38
AHhBIE B 30 31 29 31 31 30 31 29 31 31 28 31 363
K AIErSRS 712 739 710 1317 738 713 738 706 738 1317 666 137 8671
=] ,I\ B E¥41E (ppm) 0.001, 0.001 0.001 0.001 0.001 0.001 0.003] 0.003 0.003 0.005 0.004 0.002 0.002
Al ;?\ 1 BEREEAN0. 1ppm7z 48 2 7= BFRE1 4K 0 0 0 0 0 0 1 0 0 0 0 0 1
i =l B FE#{EA0. 04ppmZ 2 % f= B 0 0 0 0 0 0 0 0 0 0 0 0 0
¥ 1 EREDRSE (ppm) 0.016/ 0.026/ 0.012 0.008 0.016/ 0.010/ 0.137 0.056/ 0.045 0.050 0.073 0.026 0.137
BEHED RS E (ppm) 0.003/ 0.002 0.002 0.002 0.002 0.002 0.023 0.012 0.012 0.021 0.017 0.008 0.023
= EBIE B 30 20 24 31 30 31 30 30 31 28 31 316
] Bl %E Bl 114 484 598 734 1 137 4 733 739 665 738/ 7567
B w |BFH1E (ppm) 0.001| 0.001 0.001 0.001 0.001 0.002 0.003 0.003 0.005 0.005 0.003 0.002
B 31 1ERIEA0. 1ppm# A8 2 - BRI 0 0 0 0 0 1 0 0 0 0 0 1
i B E#{EA0. 04ppmZERE X f- B 0 0 0 0 0 0 0 0 0 0 0 0
ﬁ? 1 BFREE D &%= {E (ppm) 0.008 0.012 0.004| 0.007 0.013] 0.107/ 0.055 0.038/ 0.059 0.090 0.028 0.107
HEHED RS IE (ppm) 0.002| 0.002 0.002 0.002 0.003 0.014 0.009 0.008 0.014 0.019 0.009 0.019
AHhBIE B 30 31 29 31 31 30 31 30 30 31 28 31 363
4 7Bl 72 R 114 1317 709 738 739 114 739 715 132 739 666 738 8680
B & |A¥FH1E (ppm) 0.001, 0.001 0.001 0.001 0.000 0.001 0.003] 0.003 0.003 0.004 0.004 0.002 0.002
M A 1 EEEDO. 1ppmEx 8 2 =B $k 0 0 0 0 0 0 1 0 0 0 0 0 1
m K B FE#H{EA0. 04ppmZ 2 % F= B 0 0 0 0 0 0 0 0 0 0 0 0 0
£8 1 BFFE{E O £ = 1E (ppm) 0.013] 0.011 0.005 0.008 0.006 0.007 0.122| 0.097 0.036 0.046/ 0.069 0.025 0.122
BEHED RS E (ppm) 0.003, 0.002 0.002 0.002/ 0.002 0.002/ 0.023] 0.013 0.011 0.013 0.015 0.009 0.023
= N EBIE B 30 30 30 31 31 30 31 29 30 31 28 31 362
E2he) Bl %E Bl 708 730 114 733 135 1 137 710 729 738 666 738 8649
=) :Hé Lj B F5{E (ppm) 0.001| 0.001| 0.000 0.001 0.000/ 0.000/ 0.001 0.002 0.002 0.003 0.002 0.002 0.001
# Bt 1 BEFEEMO. 1ppm% {8 2 1= HEfE K 0 0 0 0 0 0 0 0 0 0 0 0 0
) > BIEHEAO0. 0dppmZE B 2 - B 0 0 0 0 0 0 0 0 0 0 0 0 0
21 BREEDRSE (ppm) 0.012) 0.019 0.004 0.011 0.004 0.007 0.028/ 0.038 0.032 0.022 0.025 0.025 0.038
l HEHED RS IE (ppm) 0.003| 0.003 0.001 0.003 0.001 0.001 0.004 0.008 0.007 0.008 0.006 0.004 0.008
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3 N N
i - &8 RIS SR -
g 48 | 58 68 | 7A 8B 98 108 1A | 128 1A | 28 | 38
HHEEBH 30 30 30 31 31 30 30 29 31 31 28 31 362
g RS 713 733 7120 735 736 708 724 704 738 736 665 735 8639
N # B EHIE (ppm) 0.000 0.001 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.001
R 1 BESRAEAN. 1ppmZE AR X 1= BRI % 0 0 0 0 0 0 0 0 0 0 0 0 0
M 8 B0 0dppnE B2 =B 0 0 0 0 0 0 0 0 0 0 0 0 0
AT 1 eRaE B S E (opm) 0.010 0.051 0.006 0.003 0.016 0.014 0.021 0.012 0.021 0.027 0.008 0.021 0.051
B EH{ED RS E (ppm) 0.002 0.006 0.001 0.001 0.003 0.002 0.005 0.003 0.007 0.004 0.002 0.006 0.007
AHHEEBH 30 27 30 31 31 30 31 29 31 31 28 31 360
A E SRS 712 693 710, 738 735 715 738 707 738 738 666 737 8627
= fﬁ" B EH1E (opm) 0.000 0.001 0.000 0.001 0.000 0.000 0.001 0.000 0.001 0.001 0.001 0.001 0.001
W2 1 ERREAN. 1ppmE AR X 1= BRI % 0 0 0 0 0 0 0 0 0 0 0 0 0
M % BTFHEA0. 04ppnE B2 < B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B RAE D &S {E (ppm) 0.022 0.069 0.008 0.031 0.009 0.017 0.011 0.023 0.031 0.007 0.040 0.020 0.069
B FEDRSE (opm) 0.002 0.008 0.001 0.005 0.002 0.003 0.002 0.003 0.005 0.002 0.004 O0.004 0.008
HHEEBH 29 29 21 31 30 31 29 31 31 28 31 321
g BRI 698 725 528 737 713 735 709 738 736 666 737 7722
B & ATFHiE @ 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.002 0.002 0.001
MR 1 EERIEAN. 1ppmZE iR X 1= BRI % 0 0 0 0 0 0 0 0 0 0 0 0
M 8 B0 0dppnE B2 =B 0 0 0 0 0 0 0 0 0 0 0 0
AT 1 eRaE B S E (opm) 0.030 0.053 0.019 0.015 0.025 0.026 0.041 0.030 0.026 0.026 0.043 0.053
B EH{ED RS E (ppm) 0.003 0.008 0.003 0.003 0.006 0.006 0.007 0.005 0.005 0.005 0.008 O0.008
AHEEBH 30 30 30 31 31 30 31 29 31 31 28 31 363
sy RIEESRS 712 732 7100 737 736 712 734 711 737 7138 665 735 8659
B 2 A¥EHIE (pm) 0.001 0.001 0.000 0.000 0.000 0.001 0.001 0.002 0.002 0.002 0.002 0.001 0.001
N 1 EEREAN. 1ppmE AR X 1= BRI & 0 0 0 0 0 0 0 0 0 0 0 0 0
T ¥ BEHEH0. 0dppnE B % 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
B epE D &S E (opm) 0.022 0.055 0.019 0.010 0.011 0.009 0.018 0.019 0.022 0.022 0.012 0.012 0.055
B FEDRSE (opm) 0.006 0.005 0.004 0.003 0.003 0.002 0.005 0.006 0.006 0.005 0.003 0.005 0.006
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A N N
il 5 SH3E SH4E -
= AB 58 68 | 7B 88 98 108 1A 128 1B 28 3R
HHEEBH 30 31 29 31 31 30 31 29 31 31 28 317 363
AR 714 739 705 739 738 715 738 708 738 739 667 737 8677
# L B8 (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.003 0.004 0.004 0.004 0.002 0.002
@ E’ 1 BSFEEAN. 1ppm# 42 % 1= BEFEI %K 0 0 0 0 0 0 0 0 0 0 0 0 0
T g BFEHEH0. 04ppnE X - BH 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1EREHEDRSIE (opm) 0.030 0.018 0.015 0.022 0.017 0.012 0.038 0.045 0.048 0.039 0.027 0.022 0.048
B EHEO RS {E (opm) 0.004 0.003 0.002 0.004 0.004 0.002 0.010 0.011 0.012 0.012 0.012 0.007 0.012
AHHEEBH 30 30 30 31 31 30 31 29 31 31 28 317 363
w REERR 712 732 713 733 735 711 738 708 736 738 664 737 8657
m 4 BEHIE (ppm) 0.000 0.001 0.000 0.001 0.000 0.001 0.001 0.000 0.001 0.000 0.001 0.001 0.001
OB 1 EERIEAN. 1ppmE AR X 1= BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
M B BEE0. 0dopnEB X =B 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1 espRfED B 1E (opm) 0.023 0.052 0.008 0.026 0.026 0.025 0.016 0.015 0.039 0.006 0.029 0.013 0.052
B FEDRSE (opm) 0.003 0.006 0.002 0.006 0.003 0.005 0.003 0.003 0.006 0.001 0.004 0.003 0.006
HHEEBH 30 31 30 31 31 30 31 30 31 31 28 317 365
A E B RS 716 740 716 738 740 715 740 714 738 739 668 738 8702
= & BFEHIE (ppm) 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.001 0.002 0.001 0.001 0.001
Bt 1 BERIEA0. IppmE R R - BN H 0 0 0 0 0 0 0 0 0 0 0 0 0
M R BEHEs0. 0dppmEiE 2 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BSFE E D =2 fiE (ppm) 0.008 0.010 0.003 0.008 0.004 0.010 0.023 0.022 0.016 0.018 0.013 0.013 0.023
B EHEO RS {E (ppm) 0.002 0.003 0.002 0.003 0.003 0.003 0.004 0.006 0.006 0.005 0.003 0.003 0.006
AHEEBH 30 31 30 31 31 30 31 30 31 31 28 317 365
A B RS 715 738 715 736 737 714 739 714 739 738 667 738 8690
= __ AFHIE (pm) 0.001 0.000 0.000 0.001 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.001
i 1 BESRAEAS0. 1ppnE 48 % 1= BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
I B FE#5{EA%. 04ppm% #8 % 7= B4 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B RHED RS {E (ppm) 0.010 0.018 0.003 0.021 0.004 0.018 0.044 0.025 0.014 0.012 0.012 0.009 0.044
B FEDRSE (opm) 0.002 0.003 0.001 0.004 0.001 0.002 0.004 0.005 0.003 0.004 0.003 0.002 0.005
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A

2 2
il o 3% 4% -
R 48 5B 6A 78 8A 98 10 118 128 1A 28 3A
BBEB K 30 31 30 31 31 30 31 30 31 31 28 29 363
3 7E B i 715 740 116 738 138 707 139 715 131 740 667 718 8670
= A T 51{E& (ppm) 0.001 0.001 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
) é‘; 1 BFREEAN0. 1ppmZ 8 2 1= FEFEI 4K 0 0 0 0 0 0 0 0 0 0 0 0 0
g B F#5{EH0. 04ppmZ B R 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BffE {E D & = fiE (ppm) 0.016 0.022 0.006 0.021 0.022 0.023 0.044 0.018 0.011 0.013 0.013 0.012 0.044
A T 158 D &= & (ppm) 0.003 0.004 0.003 0.005 0.003 0.004 0.004 0.004 0.002 0.003 0.003 0.003 0.005
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Q@—FiL=Ex (N0 : ARIE)

il

RCRIRE:S

TM4E

T E 15H Rt
B 4A 5H 6R 18 8A 9AR 108 | 11A | 12H 1A 2R 3R

i EMBEER 30 31 29 31 31 30 31 29 31 31 28 31 363
i R ERERS 111 739 708 137 738 715 134 706 738 137 668 738| 8669
fi] g_é_ A F1I{E (ppm) 0.000| 0.000| 0.000| 0.001| 0.001| 0.000| 0.000| 0.000| 0.000| 0.000| 0.000| 0.000| 0.000
h E 1 K fE D &= fiE (ppm) 0.002| 0.025| 0.004| 0.006| 0.009| 0.010| 0.003] 0.002| 0.003| 0.005 0.003] 0.003| 0.025
HEHEDRSIE (ppm) 0.001] 0.003] 0.001] 0.002| 0.002] 0.001] 0.001] 0.000/ 0.001] 0.001] 0.001] 0.001] 0.003
i HRAIEBA 30 31 28 31 31 30 31 30 30 31 28 31 362
£ | M EeERS 709 739 701 137 738 715 137 715 131 135 665 736 8658
fi] % A F1I{E (ppm) 0.000| 0.000| 0.002| 0.005| 0.005| 0.003| 0.002| 0.001| 0.001| 0.002| 0.001| 0.001| 0.002
h ol B i fiE D &= = fiE (ppm) 0.009| 0.006| 0.010] 0.021| 0.019| 0.009| 0.007| 0.014| 0.010| 0.033] 0.022| 0.007| 0.033
HEHEDRSIE (ppm) 0.001] 0.002] 0.005/ 0.008| 0.007| 0.004| 0.004| 0.003] 0.003] 0.006/ 0.004| 0.002| 0.008
i EMBEER 18 31 28 30 31 28 31 29 31 31 28 31 347
iE E A % B e 448 739 684 134 738 692 738 707 739 137 666 737) 8359
fi] H'Eé_é_ A F1I{E (ppm) 0.000| 0.000| 0.001| 0.000| 0.000| 0.000| 0.000| 0.000| 0.000| 0.000| 0.001| 0.000| 0.000
h F. 1 K fE D &= fiE (ppm) 0.008| 0.006| 0.005| 0.006| 0.005| 0.006| 0.007| 0.004| 0.004| 0.007| 0.002| 0.003| 0.008
HEHED&RSIE (ppm) 0.002| 0.001] 0.003] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.003
X BHREBEHK 30 31 29 31 31 30 31 29 31 31 26 30 360
H % 1 7E B i 710 739 709 738 739 713 738 705 738 736 626 733| 8624
A ﬁ;‘\, A F1I{E (ppm) 0.000| 0.000| 0.000| 0.000| 0.000| 0.000| 0.000| 0.001| 0.000| 0.000| 0.000| 0.000| 0.000
h E 1 K fE D &= fiE (ppm) 0.017| 0.008| 0.009| 0.009| 0.014| 0.002| 0.008| 0.005| 0.008| 0.005 0.001| 0.003] 0.017
HEHED&RSIE (ppm) 0.001] 0.001] 0.001] 0.001] 0.001] 0.000 0.001 0.001 0.001 0.000 0.000 0.001 0.001

B BHMAEEH 30 31 29 31 31 30 31 30 30 31 26 31 361
g M _ | BI7E By 710 739 707 739 739 114 740 112 134 739 640 737) 8650
] T A F151iE (ppm) 0.000| 0.000| 0.001| 0.001| 0.001| 0.001| 0.000/ 0.000 0.001| 0.001| 0.000 0.001 0.001
h iﬁ'.sg 1 B fE D &= fiE (ppm) 0.006| 0.007| 0.007| 0.010| 0.007| 0.014| 0.006| 0.007| 0.006| 0.047| 0.007| 0.007| 0.047
HEHED&RSIE (ppm) 0.001] 0.001] 0.001] 0.002| 0.002] 0.002| 0.001] 0.001] 0.001| 0.008 0.001] 0.001] 0.008
H A3RE A 30 31 29 31 31 30 31 30 30 31 28 31 363
H j'%\ 1 7E B i 713 739 708 738 739 114 738 713 131 738 666 738| 8675
A E A F1I{E (ppm) 0.000| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001 0.001
h g | B i fiE D &= = fiE (ppm) 0.015] 0.011] 0.011] 0.017| 0.026| 0.013] 0.025| 0.018| 0.014| 0.023| 0.009| 0.014| 0.026
HEHED&RSIE (ppm) 0.001] 0.001] 0.002| 0.003] 0.004| 0.002] 0.003] 0.002| 0.003] 0.003] 0.002] 0.002| 0.004
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%“ - SF134E SF14% st
B 28 | 58 | 68 | 78 | 8A | 98 | 10A | 11A | 12A | 1A | 2A | 3A

f’q? AAITE B 30 30 30 31 31 30 31 29 31 31 28 31 363
= gz SR E B 711 732 713 7134 736 711 137 709 731 738 666 738 8656
| m> | BEHIE (ppm) 0.000| 0.000| 0.001| 0.001| 0.001| 0.001| 0.000f 0.001| 0.001| 0.001| 0.000/ 0.000| 0.001
) sll 1 EBBEDRKSE (ppm) 0.008| 0.023| 0.021| 0.028| 0.015| 0.030| 0.007, 0.014| 0.015| 0.015| 0.009, 0.013| 0.030
BHEHED RS E (ppm) 0.002| 0.002| 0.002| 0.006| 0.003| 0.003| 0.001| 0.002| 0.002| 0.002| 0.001| 0.002| 0.006
AhAEITE B 30 27 30 31 31 30 31 29 31 30 28 31 359
R fﬁ’[é A E R 713 692 711 739 137 715 738 705 739 127 666 137 8619
W Z | BEHIE (ppm) 0.001| 0.000| 0.000f 0.001| 0.001| 0.001| 0.001| 0.001| 0.002| 0.002| 0.001| 0.001| 0.001
bl g 1 EBBEDRKSE (ppm) 0.008| 0.005| 0.005| 0.008| 0.019| 0.009| 0.016| 0.023| 0.046| 0.030| 0.026, 0.028| 0.046
BHEHED RS E (ppm) 0.002| 0.001| 0.001| 0.002| 0.003| 0.002| 0.002| 0.003| 0.007| 0.004| 0.003| 0.004| 0.007
=] AAEITE B 30 30 30 30 14 31 29 31 31 28 31 315
B | /& |BIERH 712 731 709 127 348 736 710 738 735 665 736 7547
M| & |BEHE (ppm) 0.000| 0.000| 0.000| 0.001 0.000| 0.001| 0.001, 0.001| 0.001| 0.001| 0.001| 0.001
bl {_E 1 EBBEDRKSE (ppm) 0.010| 0.004| 0.010| 0.015 0.006| 0.013| 0.018, 0.018| 0.017| 0.016|/ 0.011, 0.018
At BHEHED RS E (ppm) 0.001| 0.001| 0.002| 0.005 0.001| 0.002| 0.003| 0.003| 0.003| 0.003| 0.002, 0.005
S AAITE B 30 30 30 31 31 30 31 29 31 31 28 31 363
B & |BIERE 712 733 710 137 736 711 7134 710 137 738 665 735 8658
| /N | BEHIE (ppm) 0.000| 0.000| 0.000f 0.001| 0.001| 0.001| 0.001| 0.001| 0.002| 0.001| 0.001|, 0.001| 0.001
bl '%‘_' 1 EBBEDRKSE (ppm) 0.007| 0.016| 0.008| 0.010/ 0.010| 0.010| 0.018| 0.019| 0.026| 0.014| 0.018| 0.013| 0.026
1 BHEHED RS E (ppm) 0.001| 0.002| 0.002| 0.003| 0.002| 0.002| 0.003| 0.003| 0.005| 0.003| 0.003| 0.002| 0.005
O AEDRERHK 30 31 29 31 31 30 31 29 31 31 28 31 363
FiE iE SR E B 710 739 707 137 738 714 736 707 736 738 666 137 8665
[ E]EF B T #41E (ppm) 0.003| 0.003| 0.002| 0.004| 0.004| 0.003| 0.003| 0.004| 0.005| 0.005| 0.004, 0.004| 0.004
bl B 1 EBBEDRKSE (ppm) 0.034| 0.042| 0.021| 0.089| 0.033| 0.052| 0.026| 0.022| 0.042| 0.043| 0.034| 0.032| 0.089
BHEHED RS E (ppm) 0.005| 0.008| 0.006, 0.012| 0.009| 0.006| 0.008| 0.008, 0.009| 0.009| 0.007, 0.010| 0.012
# AAITE B 30 31 29 31 31 30 31 29 31 31 28 31 363
| o | RIE R 710 738 705 733 7134 710 736 707 736 738 664 736 8647
| B |BEHIE (ppm) 0.003| 0.004| 0.003| 0.004| 0.005| 0.004| 0.005| 0.008, 0.011| 0.008| 0.006/ 0.005| 0.006
M oHE [ FERED &S E (ppm) 0.044| 0.036| 0.033| 0.028| 0.039| 0.036| 0.073| 0.069| 0.120| 0.084| 0.103/ 0.059| 0.120
> BHEHED RS E (ppm) 0.008| 0.007| 0.007, 0.012| 0.012| 0.009| 0.014, 0.017| 0.028| 0.019| 0.016/ 0.015| 0.028

39




—BE=Ex (N0 : ARIE)

) 2 2
E}FJT = BE FH3EF S04 T
2 4A 5H 6R 18 8A 9AR 108 | 11A | 12H 1A 2R 3R
AAEBH 1 14 31 30 31 31 28 31 197
= - BE R 37 344 743 719 142 743 668 137) 4733
[l A F1I{E (ppm) 0. 001 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.000 0.001
i 1 K fE D &= fiE (ppm) 0. 005 0.035| 0.096| 0.036| 0.070| 0.052| 0.027| 0.012| 0.096
HEHED&RSIE (ppm) 0. 001 0.003] 0.007| 0.002] 0.007| 0.007| 0.003] 0.002] 0.007
X BHREBEHK 0 31 30 31 31 28 31 182
= |5 B 8 740 716 739 739 668 736 4346
[l 'I'J“'?:EF A F1I{E (ppm) 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001
h I B iE D &= = fiE (ppm) 0.002| 0.011] 0.007| 0.015] 0.015] 0.028| 0.007| 0.028
HEHEDRSIE (ppm) 0.002| 0.002] 0.002| 0.003] 0.003] 0.002] 0.003
M ESAERR 30 31 30 31 31 30 31 30 31 31 28 31 365
= | = [EEER 117 741 117 738 740 114 740 716 739 739 668 736 8705
U IEEF A F1I{E (ppm) 0.004| 0.003| 0.005| 0.004| 0.006| 0.004| 0.005/ 0.005/ 0.005/ 0.004| 0.003] 0.004| 0.004
h g1 B iE D &= = fiE (ppm) 0.028| 0.027| 0.032| 0.027| 0.039| 0.022| 0.027| 0.035 0.041| 0.053| 0.036| 0.039| 0.053
HEHEDRSIE (ppm) 0.007| 0.007| 0.009| 0.008| 0.015] 0.006/ 0.007| 0.008 0.012] 0.009| 0.008 0.008 0.015
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Q@=EILEHE (N0, : AAl{E)

3 N -
;ﬁT o 5E & FI34E & FN44E -
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
AT 30 31 29 31 31 30 31 29 31 31 28 31 363
A E B RS 711 739 708 737 738 715 7134 706 738 737 668 738 8669
L 7 F1E (opm) 0.002 0.002 0.002 0.001 0.002 0.002 0.002 0.002 0.003 0.003 0.003 0.003 0.002
# 1 EREOSSE (pm) 0.009 0.024 0.009 0.006 0.010 0.010 0.011 0.011 0.014 0.021 0.011 0.015 0.024
) g B 1B 0 &S fE (ppm) 0.004 0.005 0.004 0.002 0.003 0.003 0.003 0.004 0.004 0.006 0.005 0.006 0.006
= 1 ESRAEAN. 2ppmE B X =B RIH 0 0 0 0 0 0 0 0 0 0 0 0 0
¥ 1 EEREEAS0. 1ppmid L0, 2ppmil T DB R £L 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EA0. 06ppm%E #2 % 1= B 4k 0 0 0 0 0 0 0 0 0 0 0 0 0
B 15 {EA%0. 04ppmil £0. 06ppmEL T D B % 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 30 31 28 31 31 30 31 30 30 31 28 31 362
A E B RS 709 739 701 737 738 715 7137 715 731 735 665 736 8658
@ B FHIE (ppm) 0.003 0.003 0.003 0.003 0.003 0.003 0.003 0.004 0.005 0.006 0.006 0.004 0.004
EOm 1 EEEORSIE (ppm) 0.034 0.019 0.017 0.016 0.021 0.016 0.011 0.014 0.019 0.022 0.019 0.015 0.034
M R BESEORSIE (pn 0.009 0.007 0.006 0.005 0.006 0.004 0.004 0.006 0.008 0.010 0.008 0.007 0.010
T B 1 eERIEA0. 20pmE B 2 1= BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
T 1 B REMEAR0. 1ppmil 0. 2ppmisl T 0D BRI %k 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EA0. 06ppm%E #2 % 1= B 4k 0 0 0 0 0 0 0 0 0 0 0 0 0
B F 5 {EA%0. 04ppmil £0. 06ppmEL T D B % 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 18 31 28 30 31 28 31 29 31 31 28 31 347
A E B RS 448 739 684 734 738 692 738 707 739 737 666 737 8359
L 7 F1E (opm) 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.003 0.003 0.003 0.002
£ M1 EREOSSE (ppn) 0.010/ 0.010 0.009 0.009 0.010 0.015 0.009 0.009 0.014 0.015 0.011 0.010 0.015
B g B FEDREE ppn) 0.003 0.005 0.003 0.003 0.003 0.003 0.004 0.004 0.004 0.005 0.006 0.005 0.006
M= 1 ESRAEA. 2ppmE B X =B RIH 0 0 0 0 0 0 0 0 0 0 0 0 0
¥ 1 EEREEAS0. 1ppmid L0, 2ppmil T D B R £L 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EA. 06ppm% #2 % 1= B 4k 0 0 0 0 0 0 0 0 0 0 0 0 0
B F 5 {EA%0. 04ppmil £0. 06ppmEL T D B % 0 0 0 0 0 0 0 0 0 0 0 0 0
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—EeER (N0, : ARIE)

3 N -
;ﬁT o 5E & FI34E & FN44E -
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
AT 30 31 29 31 31 30 31 29 31 31 26 30 360
A E B RS 710 739 709 738 739 713 738 705 738 736 626 733 8624
K BE#51E (ppm) 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.003 0.002 0.003 0.002
B I 1EEEOSSIE () 0.032 0.020 0.018 0.013 0.008 0.013 0.008 0.010 0.013 0.012 0.011 0.020 0.032
Al f?\ B 1B 0 &S fE (ppm) 0.006 0.007 0.005 0.004 0.003 0.004 0.003 0.003 0.004 0.005 0.004 0.007 0.007
M s 1 BSRAEA. 2ppmE B X =B RIH 0 0 0 0 0 0 0 0 0 0 0 0 0
¥ 1 EEREEAS0. 1ppmid L0, 2ppmil T D BRI £L 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EA0. 06ppm%E #2 % 1= B 4k 0 0 0 0 0 0 0 0 0 0 0 0 0
B 15 {EA%0. 04ppmil £0. 06ppmEL T D B % 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 30 31 29 31 31 30 31 30 30 31 26 31 361
g BIEER 710 739 707 739 739 714 740 712 734 739 640 737 8650
& A FHiE (pom) 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.003 0.003 0.004 0.003 0.004 0.003
Bt 1EEEORSIE (ppm) 0.012 0.015 0.015 0.014 0.010 0.011 0.010 0.011 0.014 0.021 0.013 0.022 0.022
B 3 BEHEORSIE (pm 0.005 0.007 0.006 0.004 0.004 0.004 0.004 0.005 0.005 0.006 0.005 0.008 0.008
i 1 BSREMEAN0. 2ppm% 8 % 1= BERI%K 0 0 0 0 0 0 0 0 0 0 0 0 0
& | EMIEA. Toom:lEO. 2ppmid T (RIS 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EA0. 06ppm%E #2 % 1= B 4k 0 0 0 0 0 0 0 0 0 0 0 0 0
B F 5 {EA%0. 04ppmil £0. 06ppmEL T D B % 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 30 31 29 31 31 30 31 30 30 31 28 31 363
A E B RS 713 739 708 738 739 714 738 713 731 738 666 738 8675
s B FHIE (opm) 0.004 0.004 0.004 0.003 0.003 0.004 0.005 0.006 0.005 0.006 0.006 0.005 0.005
B B 1BEEORSIE (ppm) 0.017 0.020 0.018 0.013 0.020 0.020 0.016 0.025 0.018 0.029 0.025 0.023 0.029
B 42 BESEORSIE (pm 0.008 0.007 0.007 0.005 0.006 0.008 0.009 0.010 0.010 0.009 0.008 0.010 0.010
M B 1 BREA0. 20om%E 8 2 - BRI & 0 0 0 0 0 0 0 0 0 0 0 0 0
5B 1 B RSMEAR0. 1ppmil 0. 2ppmi T 0D EERI %K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EA. 06ppm% #2 % 1= B 4k 0 0 0 0 0 0 0 0 0 0 0 0 0
B F 5 {EA%0. 04ppmil £0. 06ppmEL T D B % 0 0 0 0 0 0 0 0 0 0 0 0 0
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—EeER (N0, : ARIE)

] N N

;ﬁT E e SkE SHAE -
; 48 58 68 7R | 8A 9A 108 | 11A 128 1A | 2R  3A

_ EMAERK 30, 30 30 31 31 3 3l 20 31 31 28 31 363
B B 711 732 713 73 73 711 737 709 731 738 666 738 8656
i < B FH9fE (ppm) 0.003 0.003 0.003 0.002 0.002 0.003 0.003 0.004 0.004 0.004 0.003 0.003 O0.003
= pey 1 ERIED S E (pm) 0.009 0.016 0.014 0.017 0.010 0.016 0.010 0.015 0.017 0.015 0.017 0.014 0.017
8t AEHEORBIE (pn) 0.005 0.004 0.004 0.004 0.004 0.005 0.005 0.007 0.007 0.007 0.005 0.006 O0.007
BT > 1 BREMEAN0. 20pmE 4R X T FEREISK 0 0 0 0 0 0 0 0 0 0 0 0 0
* 1 BSRAMEASO. 1ppm:LEO. 2ppmid T DESRIK 0 0 0 0 0 0 0 0 0 0 0 0 0
B F19{EA%0. 06ppm% 8 % 1= B & 0 0 0 0 0 0 0 0 0 0 0 0 0
B #9830 04ppmiA £ 0. 06ppmid T O B 3 0 0 0 0 0 0 0 0 0 0 0 0 0
ERERLK 30 27 30 31 31 30 3l 20 31 30 28 31 359
S8 7 B 713 692 711 739 737 715 738 705 739 721 666 737 8619
B T #1& (ppm) 0.004 0.003 0.003 0.002 0.003 0.003 0.004 0.005 0.005 0.005 0.005 0.004 O0.004
o f;g 1 B S 0D .75 1 (ppm) 0.017 0.014 0.010 0.010 0.020 0.008 0.013 0.017 0.023 0.031 0.026 0.017 0.031
W = BFHEOSEE (o) 0.007 0.006 0.005 0.004 0.005 0.004 0.005 0.008 0.011 0.009 0.007 0.008 O0.011
M 1 EERAMEAR0. 2ppn%E R A 1o BERA K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B RAE A0, Tppmik £0. 2ppmsl T (D BSR4 0 0 0 0 0 0 0 0 0 0 0 0 0
B F19{EA%0. 06ppm% 8 % 1= B & 0 0 0 0 0 0 0 0 0 0 0 0 0
B #9830 04ppmid £ 0. 06ppmid T O B 3 0 0 0 0 0 0 0 0 0 0 0 0 0
ERERLK 30 30 30 30 14 31 20 31 31 28 31 35
S 7 B 712 731 709 727 348 736 710 738 735 665 736 7547
g A TFiE (pom) 0.003 0.003 0.003 0.002 0.002 0.003 0.003 0.004 0.004 0.003 0.004 0.003
B & 1ERIEDSSIE (ppm) 0.030 0.012 0.023 0.014 0.021 0.027 0.018 0.017 0.015 0.018 0.017 0.030
B R BTHEOSSE (ppm) 0.008 0.006 0.006 0.005 0.005 0.005 0.006 0.006 0.006 0.007 0.007 0.008
B 1 EREAR0. 20pmE AR X 12 BERAAK 0 0 0 0 0 0 0 0 0 0 0 0
PR 1 B RAMEAR0. Tppmbl EO. 2ppmid FDESRISK 0 0 0 0 0 0 0 0 0 0 0 0
B F19{EA%0. 06ppm% 8 % 1= B & 0 0 0 0 0 0 0 0 0 0 0 0
B #9830 04ppmid £ 0. 06ppmid T O B 3 0 0 0 0 0 0 0 0 0 0 0 0
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—EeER (N0, : ARIE)

4
T g RE TR S04
: Rt
CTEEE 4H30 5H30 68 1A | 8A | 98 108 1A 128 1A 2R 3R
BUE T SR N I I CES VR R IR T R
s AT 191E (ppm) 0.003 0.003 0.002 0.002 0.002 0<7)<1); oggj o710 oG N sl I I
o Mo EEE G 0,003/ 0.003] 0.002] 0.002] 0. . . .005 0.006 0.005 0.005 0.004 O.004
B . . . .010 0.009 0.015 0.014 0.019 0.021 0.018 0.023 0.020 0
118 O B i (ppm) 0.007 0.006 0.004 0.004 0 ' : - 023
. ? RO 2o 42 5 - B R -007] 0.006]_0.004] 0.004 .oog 0.006 0.008 0.008 0.009 0.007 0.009 0.007 0.009
* 1 BFREEAN0. Tppmil £0. 2ppmL T D BFfE K 0 0 0 0 0 8 8 0 0 0 0 0 0
H T #41{EA%0. 06ppm% #2 2 1= H 0 0 0 0 0 0 0 0 0 0 0 0
1 S #){ 4%0. 04ppmbL 0. 06ppmist F ) E1 8¢ O S S S R
AMAEBH 0 0 0
BUE 1 3 T R
5 A iE (opm) 736 707 736 738 666 737 8665
e B e 0.005 0.005 0.004 0.004 0.005 0.005 0.005 0.006 0.006 0.007 0.006 0.007 0.005
£ 1 BRAEDBE(E (oon) 0.039 0.033 0.019 0.086 : '
5 T hrouoBeE 0.030] 0,035/ 0.016] 0086 88?? 0.070 0.032 0.024 0.026 0.032 0.028 0.052 0.086
e o 0.008] 0.007] 0.012] 0.011 o.oog o.oog 0.009 0.010 0.012 0.010 0.015 0.015
B 1BSRIEA. 1ppmi_EO. 2ppmbl T 0D BSRA 5 o o 0 0 0 0 o o 0o 0 0o o0
HFEHEA0. 06ppmE B A 7= B 0 0 0 0 0 0 0 0 0 0 0 0 0
I S 45311 £%0. 04ppmizL 0. 06ppmbl T ) B £ 0 0 5 0 0 0 8 g 8 g 0 0 0
AMAEBH 0 0 0
BUE ol Ts8 o el Tad 70| Tae| 0T Ta6l Tes| esa| a6 B6d7
o BFS Gon) I Y £ 710 736 707 736 738 664 736 8647
-  EREOREE . . . .014 0.013 0.016 0.008 0.011 0.013 0.012 0.011 0.010 0.013
i 1 ESRE D B fE (opm) 0.077 0.041 0.046 0.03 : :
B S EORRE o 0.077]_0.041 O .033 0.035 0.032 0.028 0.032 0.036 0.038 0.044 0.035 0.077
e 057] o opd .ozg o.ozg 0.028 0.022 0.018 0.017 0.019 0.018 0.017 0.016 0.057
B 1 e5Ra1EA%0. 1ppmid £0. 2ppmil T DESRI S 0 0 0 0 0 g 0 0 0 0 0 0 0
B F19fEA%. 06ppm#% #2 % 1< B & 0 0 0 0 0 0 8 0 0 0 0 0 0
B 494 A%0. 04ppmil 0. 06ppmbl T o B % 3 0 0 0 0 0 0 g 8 g 8 g 0
3
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—EeER (N0, : ARIE)

;ﬁT o - SLIkE: St st
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38

AMAIEBH 1 14 31 30 31 31 28 31 197

B E B RS 37 344 743 719 742 743 668 7137 4733

B 1518 (ppm) 0. 000 0.002 0.003 0.004 0.005 0.005 0.005 0.005 0.004

= _ 1 EEEORSIE (ppm) 0. 001 0.012 0.022 0.015 0.024 0.030 0.033 0.032 0.033

I3 H F ) {E 0 & = fiE (ppm) 0. 000 0.003 0.005 0.006 0.010 0.011 0.010 0.010 0.011

iy 1 BEREE 0. 2ppm%E #B % 1= BRI %% 0 0 0 0 0 0 0 0 0

1 B RS EAS0. 1ppmil £0. 2ppmbl T 0D B 5 44 0 0 0 0 0 0 0 0 0

H 191 A%. 06ppm% 8 % 1= B # 0 0 0 0 0 0 0 0 0

B F 1591 A%0. 04ppmid 0. 06ppmEL T O B % 0 0 0 0 0 0 0 0 0

AHAIEBH 0 31 30 31 31 28 31 182

K AIERSRS 8 740 716 739 739 668 736 4346

2 AEHE (ppm) 0.003 0.003 0.004 0.004 0.005 0.004 0.004 0.004

= N EEECRSE (o 0.004 0.013 0.015 0.022 0.024 0.025 0.016 0.025

5 ;; H F ) {E 0 & = fiE (ppm) 0.006 0.006 0.008 0.007 0.008 0.007 0.008

T a1 ERRIEAN. 20pm% B % 1= BERAEK 0 0 0 0 0 0 0 0

HE 1 BESREIEAY. 1ppmil £0. 2ppmil T BRI %K 0 0 0 0 0 0 0 0

B BEHEAO. 06ppnE B Z - BH 0 0 0 0 0 0 0 0

B F 51 A%0. 04ppmid 0. 06ppmEL T O B £ 0 0 0 0 0 0 0 0

AHAIEBH 30 31 30 31 31 30 31 30 31 31 28 31 365

B E B RS 717 141 717 738 740 714 740 716 739 739 668 736 8705

B A FH1E (opm) 0.007 0.006 0.007 0.004 0.005 0.006 0.007 0.007 0.007 0.007 0.006 0.007 0.006

= E} 1 B E D & = fiE (ppm) 0.029 0.030 0.023 0.019 0.024 0.020 0.029 0.038 0.033 0.032 0.027 0.026 0.038

B g BEHEDREE (ppn) 0.014 0.012 0.011 0.008 0.011 0.008 0.011 0.011 0.013 0.011 0.012 0.013 0.014

Mo 1 EERREAN. 2ppm%E R R 1o BERI L 0 0 0 0 0 0 0 0 0 0 0 0 0

B 1 ESRIEAY. 1ppmil L0, 2ppmil T D BRI %K 0 0 0 0 0 0 0 0 0 0 0 0 0

H 191 A%. 06ppm% 8 % 1= B # 0 0 0 0 0 0 0 0 0 0 0 0 0

B F 51 A%0. 04ppmid 0. 06ppmEL T O B £ 0 0 0 0 0 0 0 0 0 0 0 0 0
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@=HFe  (NO+NO, : ARIE)

o %‘J - S734E SF44E st
T B 48 58 68 18 8H 98 108 118 | 12A 1A 28 38
x AMEEBRR 30 31 29 31 31 30 31 29 31 31 28 31 363
z M@ A 5E B R 711 739 708 737 738 715 7134 706 738 7137 668 738 8669
g B FAFSIE (om) 0.002 0.003 0.002 0.002 0.002 0.002 0.002 0.003 0.003 0.004 0.003 0.003 0.003
m X 1 EREEOREE (o) 0.010 0.029 0.011 0.010 0.019 0.014 0.011 0.011 0.016 0.026 0.012 0.018 0.029
= HEHEOREE (pm) 0.004 0.006 0.005 0.004 0.004 0.004 0.003 0.004 0.005 0.007 0.005 0.006 0.007
B BgiE N0,/ (NO+NO,) (%) 95.3 87.9 93.5 67.1 725 927 92.0 96.1 90.8 89.9 940 93.6 89.3
AAIE B 30 31 28 31 31 30 31 30 30 31 28 31 362
- % A 5E B R 709 739 701 737 738 715 7137 715 731 7135 665 736 8658
g o T (o) 0.004 0.004 0.005 0.008 0.007 0.006 0.004 0.005 0.007 0.008 0.007 0.005 0.006
w pe 1 FRHEOBEE (bpm) 0.040 0.025 0.023 0.035 0.031 0.025 0.016 0.021 0.025 0.046 0.035 0.017 0.046
. BEHEORSIE (ppm) 0.010 0.008 0.009 0.011 0.012 0.008 0.007 0.007 0.011 0.016 0.012 0.009 0.016
BFEHIE NO,/ (NO+NO,) (%) 92.5 89.2 62.7 353 365 47.3 583 789 78.6 78.4 80.2 855 66.3
x AMAEBRR 18 31 28 30 31 28 31 29 31 31 28 31 347
z @ A 5E B R 448 739 684 734 738 692 738 707 739 7137 666 737 8359
g & FAFSIE (o 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.003 0.004 0.003 0.003 0.002
W1 EREDREE (pm) 0.013 0.010 0.013 0.013 0.015 0.019 0.014 0.012 0.014 0.021 0.013 0.012 0.021
= HEHEOREE (pm) 0.003 0.005 0.005 0.003 0.004 0.004 0.005 0.004 0.005 0.006 0.007 0.005 0.007
B BgiE N0,/ (NO+NO,) (%) 93.5 96.5 74.7 86.9 883 854 87.7 935 91.1 87.2 833 846 87.4
x AMAEBER 30 31 29 31 31 30 31 29 31 31 26 30 360
F BIE SRS 710 739 709 738 739 713 738 705 738 7136 626 733 8624
IE'] A AFEHIE (ppm) 0.003 0.004 0.003 0.002 0.002 0.002 0.002 0.003 0.002 0.003 0.002 0.003 0.003
w1 B REOREE (ppm) 0.049 0.024 0.027 0.021 0.020 0.014 0.013 0.012 0.021 0.017 0.012 0.023 0.049
T BAFYEDORSIE (pom) 0.007 0.007 0.006 0.005 0.003 0.004 0.003 0.004 0.004 0.005 0.004 0.007 0.007
B BgiE N0,/ (NO+NO,) (%) 97.2 956 94.6 841 853 944 958 745 955 97.1 98.3 96.2 92.6
AAIE B 30 31 29 31 31 30 31 30 30 31 26 31 361
I?'] A 5E B R 710 739 707 739 739 714 740 712 734 739 640 737 8650
E%qui’:ﬂﬁ(ppm) 0.003 0.004 0.003 0.003 0.003 0.003 0.003 0.003 0.003 0.004 0.004 0.004 0.003
o 1RO BEE (bpm) 0.018 0.022 0.022 0.020 0.016 0.023 0.014 0.015 0.018 0.062 0.016 0.023 0.062
£ B FEOREE (opm) 0.005 0.007 0.007 0.005 0.004 0.006 0.005 0.006 0.005 0.014 0.006 0.008 0.014
BFEHIE NO,/ (NO+NO,) (%) 87.7 87.2 8.1 70.1 71.6 824 838 855 847 80.2 834 87.2 828
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EHREIEY (NO+NO, : ARIfE)

3 N -
;ﬁT o 5E & FI34E & FN44E -
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
AT 30 31 29 31 31 30 31 30 30 31 28 31 363
305 A 713 739 708 738 739 714 7138 713 731 738 666 7138 8675
IE'] fﬁ B FEH1{E (ppm) 0.005 0.005 0.004 0.004 0.004 0.005 0.006 0.007 0.006 0.007 0.006 0.006 0.005
R 1 EREOREE (o) 0.028 0.031 0.024 0.022 0.046 0.031 0.039 0.036 0.032 0.052 0.034 0.033 0.052
g8 BEHEDSSE (opm) 0.008 0.008 0.007 0.008 0.009 0.010 0.011 0.012 0.013 0.012 0.010 0.010 0.013
BEHIE N0,/ (NO+NO,) (%) 89.6 88.4 853 735 720 83.8 846 850 844 859 87.3 87.7 845
=0 AMAIE B 30 30 30 31 31 30 31 29 31 31 28 31 363
A< s png 711 732 713 734 736 711 7137 709 731 738 666 738 8656
%gzﬁqzﬁﬂﬁ(ppm) 0.003 0.003 0.003 0.003 0.003 0.003 0.004 0.005 0.004 0.005 0.004 0.004 0.004
By g 1 ERED B E (opm) 0.015 0.032 0.028 0.042 0.024 0.030 0.013 0.020 0.030 0.026 0.021 0.022 0.042
5 BEHSEORSIE (ppm) 0.006 0.005 0.004 0.011 0.006 0.007 0.005 0.008 0.009 0.008 0.006 0.007 0.011
| BEtg{E NO,/ (NO+NO,) (%) 86.1 856 81.1 637 71.6 801 887 852 81.3 854 87.9 883 824
BT 30 27 30 31 31 30 31 29 31 30 28 31 359
g BIEER 713 692 711 739 737 715 7138 705 739 727 666 737 8619
f;g B A FH1E (ppm) 0.004 0.004 0.004 0.003 0.003 0.003 0.004 0.006 0.008 0.007 0.006 0.005 0.005
& B 1 ERIEOREE (pon) 0.025 0.017 0.014 0.012 0.033 0.015 0.026 0.037 0.055 0.051 0.044 0.039 0.055
¥ pEyEossiE (pom 0.008 0.007 0.006 0.006 0.008 0.006 0.006 0.010 0.018 0.012 0.010 0.011 0.018
BEHIE N0,/ (NO+NO,) (%) 86.1 90.2 89.9 759 745 838 821 761 70.5 765 830 834 80.0
BT 30 30 30 30 14 31 29 31 31 28 31 315
B e 712 7131 709 727 348 736 710 738 735 665 736 7547
% E B FEH1{E (ppm) 0.004 0.003 0.003 0.003 0.003 0.004 0.004 0.005 0.005 0.004 0.004 0.004
o o 1 EREOREE (pon) 0.033 0.016 0.033 0.028 0.027 0.032 0.028 0.028 0.031 0.034 0.023 0.034
i BFEHEDSSE (opm) 0.009 0.006 0.007 0.010 0.005 0.007 0.008 0.009 0.008 0.009 0.009 0.010
BEHIE N0,/ (NO+NO,) (%) 93.1 92.9 87.5 69.7 84.0 81.5 78.2 73.0 78.0 80.3 831 81.1
AT 30 30 30 31 31 30 31 29 31 31 28 31 363
P T g 712 733 710 737 736 711 7134 710 737 738 665 735 8658
% jf B FEH1{E (ppm) 0.004 0.004 0.003 0.003 0.003 0.004 0.005 0.006 0.008 0.006 0.006 0.005 0.005
o o= 1 ERIEOREE (pon) 0.025 0.030 0.015 0.019 0.013 0.025 0.029 0.036 0.047 0.030 0.040 0.030 0.047
% BEHEOSSE (pm) 0.008 0.007 0.005 0.006 0.005 0.007 0.009 0.010 0.013 0.010 0.010 0.009 0.013
BEHIE N0,/ (NO+NO,) (%) 91.5 88.1 852 651 66.5 839 821 807 76.3 829 848 849 814
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EHREIEY (NO+NO, : ARIfE)

3 N -
;ﬁT o 5E & FI34E & FN44E -
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
5 AMAERH 30 31 29 31 31 30 31 29 31 31 28 31 363
z E A E B RS 710 739 707 737 738 714 7136 707 736 738 666 737 8665
g @ A TME (o) 0.008 0.008 0.006 0.008 0.009 0.008 0.008 0.010 0.011 0.012 0.010 0.011 0.009
m B 1 EREOREE (o) 0.061 0.052 0.038 0.175 0.080 0.116 0.042 0.046 0.066 0.072 0.062 0.072 0.175
¥ pEmEoSSE () 0.014 0.016 0.013 0.024 0.016 0.013 0.016 0.016 0.018 0.019 0.017 0.021 0.024
B BEigiE N0,/ (NO+NO,) (%) 65.3 65.7 647 53.9 547 584 576 60.1 57.7 60.3 61.3 657 60 4
AT 30 31 29 31 31 30 31 29 31 31 28 31 363
A 3m5 B F 710 738 705 733 734 710 736 707 736 738 664 736 8647
f;g *’g B FEH1{E (ppm) 0.022 0.020 0.021 0.019 0.019 0.019 0.013 0.019 0.024 0.020 0.017 0.014 0.019
oo 1 ERIEOREE (pon) 0.079 0.074 0.068 0.049 0.065 0.060 0.089 0.088 0.136 0.099 0.136 0.094 0.136
B BEHEDSSE (pm) 0.059 0.031 0.030 0.031 0.028 0.029 0.026 0.033 0.046 0.034 0.033 0.028 0.059
BEHIE N0,/ (NO+NO,) (%) 88.7 81.7 839 77.2 71.5 80.3 60.9 585 529 59.2 653 67.1 70.9
BT 1 14 31 30 31 31 28 31 197
. A %E B RS 37 344 743 719 742 743 668 737 4733
fﬁ ik A EHIE (ppm) 0. 002 0.003 0.004 0.004 0.006 0.006 0.005 0.005 0.005
& 1 B5 RSB O B 5 18 (ppm) 0. 006 0.047 0.118 0.046 0.087 0.082 0.053 0.038 0.118
B 1B 0 &S fE (ppm) 0. 002 0.005 0.011 0.008 0.015 0.018 0.011 0.011 0.018
BEHIE N0,/ (NO+NO,) (%) 24.2 61.7 77.9 85.6 77.6 80.7 85.6 92.5 821
BT 0 31 30 31 31 28 31 182
X i 8 740 716 739 739 668 736 4346
Eiaﬁ%ﬂrﬁ(ppm) 0.004 0.004 0.005 0.005 0.006 0.005 0.006 0.005
o2 1 FERIEDREE (pom) 0.005 0.019 0.018 0.037 0.036 0.053 0.020 0.053
# B BEHIEDRSIE (pm) 0.007 0.008 0.009 0.010 0.011 0.009 0.011
BEHIE N0,/ (NO+NO,) (%) 78.6  76.6 85.4 831 81.8 79.5 744 80.1
= AMAERHR 30 31 30 31 31 30 31 30 31 31 28 31 365
Lo BIEER 717 141 717 738 740 714 740 716 739 739 668 736 8705
fﬁ & B E51E (ppm) 0.011 0.010, 0.013 0.009 0.011 0.010 0.012 0.012 0.012 0.012 0.010 0.011 0.011
& B 1EREOREE (o) 0.057 0.053 0.042 0.036 0.050 0.038 0.041 0.059 0.064 0.085 0.059 0.056 0.085
¥ pEmEoSSE () 0.019 0.017 0.018 0.014 0.022 0.014 0.017 0.019 0.024 0.021 0.021 0.021 0.024
B BEigiE N0,/ (NO+NO,) (%) 63.3 656 58.2 47.5 453 60.9 60.8 61.3 583 61.6 63.3 635 592
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OXILFEAFFHF UL (0x: ARIE)

3 N -
;FJT % =B ST3FE SF4AE =5t
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
R RS E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2 ST 5 B 445 461 445 461 458 440 461 444 460 459 411 458 5403
B RE®1EREED B FEH1E (opm) 0.043 0.042 0.036 0.018 0.016 0.027 0.029 0.030 0.028 0.031 0.038 0.040 0.031
= ;g RRID 1 BRI EAN. 06ppm#E B % 1= B & 10 9 3 0 0 1 1 1 0 0 0 5 30
;g = B 1 ERIEA. 06ppnE B % 1B 4 49 21 0 0 6 6 1 0 0 0 15 139
B G ERRE0 1 ERIEAH0. 12ppmil £ B3 0 0 0 0 0 0 0 0 0 0 0 0 0
FF ORI 1 EEREEAN. 12ppmil 0 BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1 EREED &S 1E (opm) 0.070 0.096 0.081 0.058 0.047 0.068 0.066 0.061 0.047 0.055 0.059 0.065 0.096
BREOSS 1 BRIED B FH1E (opm) 0.055 0.054 0.049 0.028 0.025 0.039 0.044 0.044 0.039 0.041 0.046 0.052 0.043
R FETEI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2 ST 5 B 443 461 445 461 459 430 463 446 464 464 412 462 5419
T R0 1 ERIED A FH1E (ppm) 0.043 0.037 0.033 0.017 0.016 0.028 0.032 0.031 0.029 0.032 0.037 0.039 0.031
3 _Elﬁ RREID 1 BRI EA. 06ppm#E B % 1= B & 11 13 7 2 0 5 5 2 0 0 2 11 58
B w B 1ERIEA0. 06ppn % B A 1 ERIK 58 66 20 2 0 13 18 4 0 0 8 49 238
T = RO 1 EREA0. 120pml LD B 0 0 0 0 0 0 0 0 0 0 0 0 0
% RO 1 EREAD. 12ppmil £ B 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1 EREED &S 1E (opm) 0.087 0.091 0.081 0.062 0.058 0.075 0.071 0.063 0.057 0.058 0.067 0.077 0.091
BREOSS 1 BRIED B FH1E (opm) 0.057 0.054 0.050 0.030 0.028 0.044 0.048 0.046 0.041 0.044 0.047 0.055 0.045
R FETEI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2 ST 5 B 449 464 450 463 464 441 463 449 464 463 416 456 5442
i BRD 1 ERED A T 11 (ppm) 0.044 0.040 0.034 0.019 0.016 0.028 0.032 0.031 0.029 0.031 0.036 0.039 0.032
O RO 1 EREH0. 06ppmE B 2 - B3 9 11 4 0 0 2 5 1 0 0 0 10 42
B & R0 1 EREH0. 06ppm%E 18 % 1= Bk 52 50 12 0 0 4 16 3 0 0 0 40 177
M8 R0 1 ERIEAD. 1200mEl LD B3 0 0 0 0 0 0 0 0 0 0 0 0 0
AT RRSo 1 BSRIEAR0. 120pmil b (D BSRI 4L 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1 EREED &S 1E (opm) 0.078 0.086 0.079 0.060 0.048 0.071 0.069 0.065 0.055 0.054 0.060 0.074 0.086
BREOSS 1 BRIED B FH1E (opm) 0.056 0.054 0.047 0.029 0.026 0.042 0.046 0.045 0.039 0.041 0.045 0.052 0.043
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HIEFEAFH L (0x: ARIE)

3 N -
;FJT % =B ST3FE SF4AE =5t
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
R RS E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2 ST 5 B 444 461 446 460 461 436 459 446 460 460 409 460 5402
K |BREID 1 ERAED B FH1E (opm) 0.048 0.043 0.039 0.022 0.021 0.026 0.031 0.036 0.034 0.036 0.041 0.044 0.035
B = |Emo 1 ErEs0. 06ppnE B X - A% 13 15 8 2 0 2 1 2 0 0 2 10 55
] f?\ RRED 1 BREEAO0. 06ppm%E 48 % 1= BRI %L 83 75 29 7 0 3 7 6 0 0 9 55 274
T[RRI 1 BRREANO. 120pmEl LD B 0 0 0 0 0 0 0 0 0 0 0 0 0
% |BRED 1 EREAD. 12ppmil £ ) BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1 EREED &S 1E (opm) 0.095 0.094 0.075 0.067 0.058 0.062 0.068 0.065 0.058 0.060 0.066 0.076 0.095
BREOSS 1 BRIED B FH1E (opm) 0.060 0.058 0.053 0.033 0.032 0.037 0.042 0.048 0.043 0.044 0.048 0.056 0.046
R FETEI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2 ST 5 B 445 461 446 460 461 438 460 446 459 461 409 459 5405
@ |BRO 1 ERED A F 1918 (pom) 0.050 0.046 0.042 0.025 0.024 0.034 0.038 0.036 0.034 0.036 0.042 0.045 0.038
B & |BRE®1ERIEA0. 06ppmZE Bz 1= B3 14 15 11 2 0 7 6 4 0 0 2 13 74
B2 |REO 1 EERHEA0. 06ppmE 18 % 1= Bk 93 95 46 8 0 18 28 13 0 0 11 79 391
M K |RrE® 1ERIEAD. 1200mil LD B3 0 0 0 0 0 0 0 0 0 0 0 0 0
BB | Rpop 1 BSREIEAN0. 1200mil b 0D SRS 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1 EREED &S 1E (opm) 0.096 0.098 0.081 0.068 0.058 0.070 0.074 0.067 0.060 0.060 0.067 0.079 0.098
BREOSS 1 BRIED B FH1E (opm) 0.062 0.061 0.055 0.036 0.035 0.047 0.051 0.050 0.045 0.046 0.050 0.058 0.050
7 |RREE A% 30 31 30 31 31 30 31 30 31 31 28 31 365
K| RSB R B RS 449 462 449 462 464 430 463 449 464 464 410 463 5438
E} BRED 1 EREED A F91E (opm) 0.040 0.038 0.029 0.016 0.013 0.023 0.024 0.024 0.027 0.028 0.036 0.037 0.028
;.E; fe |BREO 1ERIIEH0. 06opnE B X 1= B 9 9 2 0 0 1 0 0 0 0 1 6 28
B |RREID 1 ERREA. 06ppm#% i8 X 1= BSR4k 57 53 13 0 0 6 0 0 0 0 1 18 148
E} @ | BRI 1 BERIEA0. 12ppmil £ B 0 0 0 0 0 0 0 0 0 0 0 0 0
RO 1 BEREEAND. 12ppmil L 0 B %K 0 0 0 0 0 0 0 0 0 0 0 0 0
B R0 1 EEHEOSSE (pn) 0.078 0.095 0.075 0.051 0.045 0.069 0.055 0.058 0.047 0.052 0.061 0.068 0.095
5 | BEoRS 1 EREED A FHIE (o) 0.057 0.054 0.045 0.026 0.022 0.037 0.040 0.041 0.038 0.039 0.044 0.052 0.041
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HIEFEAFH L (0x: ARIE)

3 N -

;FJT % =B ST3FE SF4AE =5t
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38

IECEEEE 30 31 30 31 31 30 31 30 31 31 28 31 365

g NPT 437 459 444 456 458 438 458 445 455 460 409 459 5378

oy < BRI 1 EEIED A F#1E (opm) 0.048 0.045 0.041 0.022 0.022 0.036 0.037 0.036 0.031 0.032 0.039 0.044 0.036

= g2y RO 1 ERREA0. 06ppnE B X - AR 12 12 6 1 0 5 4 5 0 0 2 12 59

8 B RO 1 ER{EA. 06ppn% 2 X 1= B4 77 84 39 4 0 21 23 20 0 0 13 66 347

Br > RRAD 1 ERIEA0. 12ppmil £ B %K 0 0 0 0 0 0 0 0 0 0 0 0 0

’f‘ RRID 1 BRI EAN. 12ppmbl £ 0D B RS £ 0 0 0 0 0 0 0 0 0 0 0 0 0

BRED 1 EREED &S 1E (opm) 0.099 0.094 0.076 0.064 0.058 0.072 0.077 0.069 0.060 0.060 0.068 0.074 0.099

BREOSS 1 BRIED B FH1E (opm) 0.060 0.058 0.053 0.031 0.031 0.048 0.051 0.050 0.044 0.045 0.049 0.057 0.048

R FETEI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365

2 ST 5 B 450 465 450 464 465 442 463 445 465 465 413 465 5452

o B0 1 EERIED B T #1E (opm) 0.045 0.042 0.035 0.017 0.015 0.028 0.030 0.031 0.027 0.030 0.037 0.040 0.031

N # BREIO 1 ERIEAN. 06ppmE B X 1 B3 10 10 4 0 0 2 0 1 0 0 0 5 32

R RO 1 EREA. 06ppnE B X 1= B4 72 53 17 0 0 9 0 1 0 0 0 17 169

M8 R0 1 ERIEAD. 1200mEl LD B3 0 0 0 0 0 0 0 0 0 0 0 0 0

AT RRSo 1 BSRIEA0. 120pmil b (D BSRI %L 0 0 0 0 0 0 0 0 0 0 0 0 0

BRED 1 EREED &S 1E (opm) 0.077 0.090 0.072 0.053 0.048 0.072 0.060 0.062 0.045 0.053 0.056 0.067 0.090

BREOSS 1 BRIED B FH1E (opm) 0.057 0.053 0.047 0.026 0.023 0.038 0.043 0.044 0.037 0.039 0.045 0.052 0.042

R FETEI E B 3 30 30 30 31 31 30 31 30 31 31 28 31 364

2 ST 5 B 440 436 440 461 450 445 458 443 460 460 406 459 5358

BRED 1 EREED A F91E (opm) 0.040 0.039 0.032 0.017 0.015 0.027 0.028 0.028 0.025 0.026 0.037 0.040 0.029

= f;g RREID 1 BRI EA. 06ppm#E B % 1= B & 6 3 4 0 0 1 0 0 0 0 1 9 24

WL RO 1ER{EA0. 06ppnE B X 1= B4 40 20 9 0 0 3 0 0 0 0 1 42 115

T m RO 1 ER{EA0. 120pnEl £ o) B 0 0 0 0 0 0 0 0 0 0 0 0 0

RRID 1 BRI EAN. 12ppmbl £ 0D B RS £ 0 0 0 0 0 0 0 0 0 0 0 0 0

BRED 1 EREED &S 1E (opm) 0.081 0.090 0.068 0.047 0.057 0.064 0.059 0.057 0.050 0.052 0.062 0.072 0.090

BREOSS 1 BRIED B FH1E (opm) 0.053 0.049 0.044 0.025 0.022 0.038 0.041 0.044 0.039 0.039 0.047 0.055 0.041
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HIEFEAFH L (0x: ARIE)

3 N N
;FJT % =B ST3FE SF4AE =5t
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
R RS E B 3 30 31 30 31 31 30 31 30 31 30 28 31 364
2 ST 5 B 443 460 441 459 459 438 457 446 456 431 409 459 5358
g B 1 EEED B FHiE (ppm) 0.047 0.041 0.036 0.018 0.017 0.031 0.033 0.033 0.031 0.029 0.038 0.041 0.033
B @ BREO1ERIEAO. 06ppmZE Bz 1= B3 10 11 5 0 0 2 2 1 0 0 2 9 42
MR BRI 1 ERIEA. 06ppmE 48 X 1= BERI %K 76 53 14 0 0 4 8 4 0 0 6 31 196
M8 R0 1 ERIEAD. 1200ml LD B3 0 0 0 0 0 0 0 0 0 0 0 0 0
AT RRSo 1 BSRIEA0. 120pmil b (D BSRI %L 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1 EREED &S 1E (opm) 0.090 0.079 0.073 0.059 0.053 0.066 0.073 0.066 0.056 0.058 0.063 0.072 0.090
BREOSS 1 BRIED B FH1E (opm) 0.059 0.054 0.050 0.027 0.026 0.042 0.046 0.047 0.043 0.041 0.048 0.055 0.045
R FETEI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2 ST 5 B 423 459 440 459 457 438 456 444 459 460 409 456 5360
s BRD 1 ERIED A 1918 (ppm) 0.038 0.043 0.039 0.020 0.019 0.033 0.035 0.035 0.030 0.032 0.039 0.042 0.034
B i BREO1ERIEA0. 06ppnZE Bz - B3 7 11 5 0 0 3 2 3 0 0 2 10 43
BN BRI 1 ERIEAN. 06ppmE 48 % 1= BE R %K 50 62 15 0 0 13 6 7 0 0 10 52 215
T2 BRI 1 EREHEA. 120pmEl £ B 0 0 0 0 0 0 0 0 0 0 0 0 0
B RRI0 1 B RIEA. 120pml_E 0D BSR4 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1 EREED &S 1E (opm) 0.094 0.076 0.073 0.058 0.054 0.073 0.072 0.066 0.058 0.058 0.064 0.071 0.094
BREOSS 1 BRIED B FH1E (opm) 0.050 0.055 0.051 0.028 0.029 0.044 0.047 0.049 0.042 0.043 0.049 0.056 0.045
R FETEI E B 3 30 30 28 31 31 30 31 25 31 31 28 31 357
2 ST 5 B 446 430 408 461 461 445 461 355 460 459 416 460 5262
BRED 1 EREED A F91E (opm) 0.050 0.047 0.041 0.022 0.021 0.035 0.038 0.038 0.034 0.035 0.040 0.045 0.037
= £ RO 1 ERIEA0. 06ppmE iR % 1= B 11 14 5 1 0 5 4 4 0 0 2 12 58
Bt BRI 1 EREA. 06ppmE 48 % 1= iERI %K 81 86 22 4 0 23 20 13 0 0 12 64 325
m R R0 1 ERIEH0. 12ppmel ED B 0 0 0 0 0 0 0 0 0 0 0 0 0
RRID 1 BRI EAN. 12ppmbl £ 0D B RS £ 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1 EREED &S 1E (opm) 0.098 0.097 0.076 0.067 0.059 0.068 0.074 0.068 0.058 0.060 0.067 0.074 0.098
BREOSS 1 BRIED B FH1E (opm) 0.061 0.058 0.052 0.031 0.030 0.047 0.050 0.048 0.042 0.044 0.048 0.057 0.047
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HIEZEAXROH L (0x: ARIE)

Al

RCRiIRE:S

THAE

% HH it
R 4R o8 6AH 1R 8A 98 10 11RA  12HR 18 2R 38
BEAE B #% 30 31 30 31 31 30 31 30 31 31 26 31 363
ENGRERE 449 465 449 464 463 449 464 445 464 462 354 460 5388
BRED 1 BEED A F1H{E (opm) 0.043 0.042) 0.033 0.019 0.019 0.030/ 0.029| 0.030 0.028 0.029 0.040 0.039 0.032
= . BRI 1EHEEH0. 06ppmZ B X - B 8 9 0 0 0 1 1 0 0 0 0 2 21
U} BREID 1 BfEMEH0. 06ppm% 2 % 1= Bl K 47 2] 0 0 0 5 5 0 0 0 0 12 96
oe B 1 FFEEH0. 12ppmil D B 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1 BFEHEAY0. 12ppmil £ D BFRE2L 0 0 0 0 0 0 0 0 0 0 0 0 0
BRE D 1 BE{ED&SE (opm) 0.081| 0.085 0.057 0.056 0.053 0.066/ 0.067 0.055 0.048 0.056 0.059 0.072 0.085
BEID&S 1 BEE® A F1H{E (opm) 0.055 0.053| 0.043 0.027 0.026 0.040/ 0.042/ 0.043 0.038 0.040 0.046 0.051 0.042
BEAIE B 30 31 30 31 31 30 31 30 31 31 28 30 364
A BRI E R 446 462 446 461 461 445 461 445 460 460 416 432 539
B RE® 1ERIED R F41E (oom) 0.039| 0.035 0.030 0.015 0.014 0.024 0.025 0.024 0.024 0.024 0.032 0.035 0.027
= IJ,,_‘: B D 1 BFEMEAY0. 06ppmZ 8 2 7= B 1 6 0 0 0 0 0 0 0 0 0 1 20
U} ;,;E BREID 1 BfEMEH0. 06ppm% 2 % 1= Bl K 41 23 0 0 0 0 0 0 0 0 0 23 87
oe B B 1 EEEA0. 12ppmil LD B 0 0 0 0 0 0 0 0 0 0 0 0 0
H BRI 1 EREED0. 120pmLl £ O BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
B BE®1EBEORSE (ppm) 0.080 0.078 0.060 0.051 0.048 0.056/ 0.058 0.056 0.050 0.053 0.060 0.066 0.080
BEID&ES 1 BEE® A F1H{E (opm) 0.053/ 0.047/ 0.043 0.023 0.022/ 0.036/ 0.039/ 0.040 0.035 0.036 0.043 0.050 0.039
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©FiErFIRYE (SPM: ARIfE)

5 A
i iE BER SH3E SF44E i
z 48 58 6 Rt
AMAEER 30 AR_7A 88 98 10A 1A 12A 1A 28 3A
i RE R i 7?1; 730 : 5! 30 3 30 31 31 28 31 365
E @ ATHiEmg/m) 0.008 0.009 oo:g 0(7)32 0(7)3; oglg A B S L
_@ ﬁ; %A 1B 6l 0.009] 0.010] 0.008] .00 0.010 0.00(7) 0.00(7) o.oog o.oog 0.007 0.007 0.008
B BEH@A0. 10mg/n' & B3 1B O S S S R
= 25 3
éiiﬂ&gfz_ggmg/mg 0.020 0.031 0.033 0.049 0.041 0.060 0.027 0.026 0.019 0.017 0.032 0.029 0.060
ﬁi%ﬁ%aiﬁl‘m/M o.o;g 0.0;;1 0.023 0.034 0.024 0.033 0.014 0.014 0.010 0.015 0.015 0.012 0.034
e 30 30 31 30 31 30 '
I Vel 31 31 28 31 364
iz @ ﬁ$w1?ﬁ(mg/m3) 0(7):; 0733 714 705 737 719 737 709 737 739 667 731 8645
A . 017 0.016 0.017 0.015 0.017 0.013 0.013 0.011 0.012 0.013 0.017 0.015
s EE FIE . mg m3 B Z =B 0 0 0 0 0 0 0 0 0 0 0 0 0
= BTHEAH0. 10mg/mEiB R - BH 0 0 0 0 0 0 0 0 0 0 0 0 0
7 = 2 3
1% éiiﬂ&gfz_ggmg/mg 0.075 0.065 0.045 0.093 0.084 0.089 0.039 0.044 0.055 0.040 0.053 0.087 0.093
A %E;;m_mg/m) 0.048 0.037 0.030 0.039 0.032 0.039 0.021 0.024 0.020 0.033 0.028 0.026 0.048
B MEE S0 s1  sf st e1 s st o s s 28] 3] 36
I eI 716 742 742 719 742 715 743 740 668 742 8727
I T ) . .022 0.019 0.017 0.017 0.019 0.014 0.016 0.014 0.013 0.014 0.018 0.017
g # e %0, mg/mséh?f:ﬁ#ﬁaﬁﬁi 0 0 0 0 0 0 0 0 0 0 0 0 0
= HIE 5 {EA0. 10mg/m° %8 z - A%k 0 0 0 0 0 0 5 0 0 0 0 0 :
—_ =he—y 3
- éiiﬂ&gfz_ggmgﬁmg 0.123 0.088 0.044 0.059 0.064 0.072 0.126 0.046 0.043 0.036 0.045 0.068 0.126
L %Egﬁl_mg m°) o.ogg o.og? o.ogg o.og? 0.032 0.042 0.026 0.028 0.022 0.030 0.029 0.033 0.058
bg g oo 31 30 31 28 29 31 28 31
gy =R 74 740 717 732 729 710 741 688 00!
= i 3 126 735 670 738 8640
B g A TI9ME (mg/m) 0.018 0.019 0.016 0.015 0.015 0.015 0.009 0.007 0.012 0.014 0.014 0.014 0.0
gﬁi,i,1E#F'aﬁﬂ“a;sﬂo.20mg/m3§ﬁzf:ﬁraw 0 0 0 0 0 0 R e .014
1BREENES 3
Eiiﬂ};gfz_ggmg/mg 0.058 0.069 0.052 0.067 0.067 0.088 0.058 0.048 0.038 0.064 0.046 0.048 0.088
91E D F 18 (mg/m°) 0.042 0.042 0.033 0.037 0.032 0.034 0.017 0.017 0.019 0.025 0.027 0.023 0.042
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FihiFRYME  (SPM: ARIE)

il N N
EﬁT e . S HN34E A4 -
= A8 | 58 6B 7R | 88 | 98 | 108 1A 12 1A | 2B 3R
EHEEEH 30 31 30 31 31 30 31 30 31 31 28 317 365
o RIEERRS 717 742 715 740 742 715 740 717 742 741 670 742 8723
N ¥k AES(E (ng/m’) 0.011 0.012 0.011 0.010 0.010 0.013 0.013 0.012 0.011 0.012 0.013 0.015 0.012
MR 1 ERIEA0. 20mg/m & 42 % - BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
R gEgEs0. 10mg/mE B A 1= B3 0 0 0 0 0 0 0 0 0 0 0 0 0
BT R En RS E me/m) 0.064 0.077 0.079 0.050 0.056 0.063 0.032 0.031 0.044 0.039 0.043 0.051 0.079
B EH{EDREE (ng/m) 0.028 0.030 0.026 0.027 0.023 0.027 0.020 0.024 0.022 0.028 0.029 0.025 0.030
EHEEEH 30 28 30 31 31 30 31 30 31 31 28 311 362
3 %E B RS 717 700 718 742 739 717 742 718 739 742 670 742 8686
# f;g AF 1918 (ng/m°) 0.016 0.019 0.014 0.013 0.014 0.015 0.013 0.013 0.012 0.012 0.011 0.015 0.014
o 1 BERSMEHY0. 20mg/m’ % 4B 2 1= BSR4k 0 0 0 0 0 0 0 0 0 0 0 0 0
T = BFEHEH0. 10mg/mEBZ 1= A% 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B R E D RS fE (ng/m°) 0.102 0.098 0.052 0.066 0.052 0.058 0.048 0.057 0.064 0.062 0.050 0.062 0.102
B EH{EDREIE (ng/m) 0.043 0.062 0.032 0.033 0.025 0.034 0.025 0.027 0.025 0.023 0.030 0.028 0.062
EHEEEH 30 31 30 29 31 30 26 30 31 25 28 317 352
g REER 715 743 717 708 743 716 640 719 731 635 670 742 8479
B & ATiyiEmg/m) 0.014 0.017 0.015 0.015 0.014 0.014 0.014 0.013 0.010 0.011 0.012 0.015 0.014
R 1 ESRIEAS0. 20mg/m & 42 % - BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
R gEEs0. 10mg/mEBZ 1= B3 0 0 0 0 0 0 0 0 0 0 0 0 0
BT R En RS mg/m) 0.066 0.114 0.076 0.085 0.050 0.059 0.041 0.068 0.032 0.053 0.033 0.053 0.114
B EH{EDREE (ng/m) 0.037 0.043 0.039 0.027 0.025 0.033 0.029 0.026 0.018 0.021 0.023 0.025 0.043
EHEEEH 30 31 30 31 31 30 31 30 31 31 28 317 365
s IEERE 719 739 710 729 740 715 741 709 737 741 668 736 8684
B & ATiyiE mg/m) 0.011 0.016 0.014 0.017 0.017 0.016 0.011 0.010 0.008 0.008 0.010 0.012 0.013
B /N1 ESREEAS0. 20mg/m & #E % - BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
T % QEmEs0. 1ong/m*E B2 - A% 0 0 0 0 0 0 0 0 0 0 0 0 0
B o ssE me/n) 0.052 0.051 0.062 0.071 0.077 0.072 0.074 0.038 0.036 0.028 0.061 0.088 0.088
B EH{EDREE (ng/m) 0.030 0.038 0.033 0.033 0.033 0.038 0.020 0.019 0.013 0.016 0.017 0.021 0.038

51




FihiFRYME  (SPM: ARIE)

Fﬁ %‘J - Si34 Sin4sE st
ET ZIs A
B 48 58 68 78 8H 98 | 108 1B 12 1A 28 38
ABIEEH 30 31 30 31 31 30 31 30 31 31 28 31 365
ORISR 717 1M 718 738 740 717 7136 717 741 741 670 741 8717
i % A E1E (ng/m’) 0.018 0.018 0.017 0.017 0.017 0.017 0.011 0.012 0.010 0.010 0.011 0.017 0.014
_r‘ITJi - 1E#r'aﬁﬂﬁysfo.20mg/m§§ﬁzf:ﬁ#ﬁaﬁ§i 0 0 0 0 0 0 0 0 0 0 0 0 0
e BFHEMO. 10mg/m° & % - A% 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1 EBREORSIE Mmg/m) 0.093 0.072 0.045 0.064 0.103 0.066 0.038 0.038 0.042 0.040 0.053 0.055 0.103
HEHIBEDRSE (ng/m) 0.049 0.038 0.030 0.038 0.033 0.037 0.019 0.023 0.018 0.028 0.023 0.029 0.049
ABEEH 30 31 30 31 31 30 31 30 31 23 24 31 353
w  BIERRR 718 740 718 738 741 719 742 718 740 604 607 742 8527
# B E#1E (ng/m’) 0.009 0.017 0.012 0.009 0.012 0.013 0.012 0.011 0.008 0.007 0.006 0.011 0.011
W OB 1ERIEH0. 20mg/m & 4B 2 1= BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
T B BEsEA0. 10mg/mEE % - B3 0 0 0 0 0 0 0 0 0 0 0 0 0
B mrEoREE ng/m) 0.053 0.079 0.040 0.050 0.057 0.038 0.037 0.039 0.030 0.029 0.028 0.041 0.079
HEHIBEDRSE (ng/m) 0.022 0.054 0.023 0.019 0.027 0.027 0.024 0.025 0.016 0.013 0.013 0.020 0.054
ABIEEH 30 31 30 31 31 30 31 30 31 31 28 31 365
I 7E B RS 720 743 720 744 743 720 743 718 744 743 672 7144 8754
=tk AFEHIEMmg/m) 0.017 0.017 0.015 0.016 0.015 0.017 0.014 0.013 0.010 0.011 0.011 0.015 0.014
B £ 1 BREEAN. 20mg/m* E 4B Z 1= BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
R gEmEso. 1omg/mEE % - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BRED RS E (mg/m) 0.080 0.074 0.037 0.042 0.071 0.080 0.051 0.037 0.030 0.046 0.036 0.055 0.080
HEHIBEDRSE (ng/m) 0.047 0.043 0.029 0.032 0.031 0.031 0.025 0.026 0.017 0.025 0.025 0.026 0.047
ABIEEH 30 31 28 31 30 30 31 30 31 31 28 31 362
I 72 B RS 719 744 701 743 731 719 743 720 743 743 670 743 8719
B A E1E (ng/m’) 0.015 0.015 0.013 0.013 0.012 0.015 0.012 0.013 0.011 0.012 0.012 0.015 0.013
U5 1 BSREEA%0. 20mg/m’ % 48 X 1= B A 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
i BEHEA. 10mg/m* %2 % - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BRED RS E (mg/m) 0.084 0.091 0.054 0.071 0.076 0.050 0.062 0.036 0.034 0.035 0.066 0.046 0.091
HEHIBEDRSE (ng/m) 0.036 0.032 0.025 0.027 0.028 0.029 0.027 0.025 0.021 0.028 0.024 0.023 0.036
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R FAYE  (SPM: ARIE)

Al

AN AN

;ﬁT 2 - SH3E SH4E -

B 48 58 68 18 8AH 9A 108 118 128 18 28 3R
EBIEBRE 30 31 30 31 31 30 31 30 31 31 28 31 365
38 7€ B 720 7144 719 144 744 719 741 7120 741 144 672 743 8751
= | ﬁqziéﬂlﬁ(mg/m% 0.012 0.014 0.015 0.013 0.014 0.014 0.010 0.009 0.007 0.008 0.009 0.010, 0.011
I g 1 EERIMEA0. 20me/m’ £ B X 1 B RIS 0 0 0 0 0 0 0 0 0 0 0 0 0
oe B #{EA0. 10mg/m° B 2 - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1EBREDRSIE (mg/m3) 0.037 0.042 0.050 0.048 0.054 0.048 0.054 0.046 0.022 0.027 0.031 0.028 0.054
HEWEDRSIE (mg/m3) 0.021) 0.024 0.029 0.030 0.027 0.035 0.021 0.020 0.013 0.020 0.019 0.016| 0.035
K | BxhBlIE B 30 31 30 31 31 30 31 30 31 31 28 31 365
= 38 7€ B 719 7144 718 743 743 719 743 7120 743 743 671 743 8749
= Ij.m\. ﬁqzi’>31l'§(mg/m3) 0.014/ 0.017 0.016 0.017 0.016 0.018 0.012 0.011 0.008 0.010 0.011 0.014| 0.014
W 1 ESRAMEAS0. 20me/n’ £ % =B R 0 0 0 0 0 0 0 0 0 0 0 0 0
T 5 BFEEA. 10ng/n'E B 1- B M 0 0 0 0 0 0 0 0 0 0 0 0 0
HE 1H§F‘aﬁ1’l§0)%%1ﬁ(mg/m3) 0.067 0.077 0.066 0.071 0.072 0.059 0.058 0.041 0.047 0.064 0.049 0.066/ 0.077
5 qum{[‘go)g%‘,%‘{ﬁ(mg/m% 0.038 0.039 0.035 0.031 0.035 0.031 0.028 0.022 0.019 0.026 0.022 0.026/ 0.039
EBIEBRE 30 31 30 31 31 30 31 30 31 31 28 31 365
E'_l 38 7€ B 719 743 718 743 743 718 142 716 743 144 671 743 8743
= m‘%} ﬁqziéﬂlﬁ(mg/m% 0.018 0.018 0.017 0.018 0.016 0.016/ 0.012 0.011 0.008 0.009 0.009 0.014 o0.014
g 1 EEREA0. 20me/m’ £ #B % 1 B RIS 0 0 0 0 0 0 0 0 0 0 0 0 0
T g BTEEAO. 10mg/m*E B Z - B 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1H§F‘aﬁ1’l§0)%%1ﬁ(mg/m3) 0.107 0.082 0.061 0.073 0.080 0.063 0.064 0.044 0.052 0.042 0.050 0.071| 0.107
HEWEDRSIE (mg/m3) 0.065 0.044 0.041 0.033 0.031 0.033 0.023 0.024 0.015 0.028 0.025 0.025/ 0.065

53




OWMFRYE (PN, 5 - ARIE)

i %‘1 - SF34E SRAE st
OB A5 58 | 68 7B 88 98 10 11A 12 1A 2B | 3H
B AMAERH 30 31 30 31 11 19 31 30 31 31 28 31 334
B T e 715 738 700 725 269 489 743 718 743 740 670 742 7992
;g T; BT 1E (ug/m°) 75 80 75 45 51 1.5 82 85 85 99 11.0 1.1 83
B fg BFHEOSEE (ug/n) 27.3 237 22.5 16.0 11.4 150 153 152 16.5 29.8 26.3 20.4 29.8
Fi B FH{EAS5. Oug/m X - A% 0 0 0 0 0 0 0 0 0 0 0 0 0
@ AMAERH 30 31 30 31 29 30 31 30 31 31 28 31 363
E O BIERER 717 742 716 742 709 717 742 717 739 7138 669 740 8688
B R ATEyE (ug/m) 95 105 95 7.1 1.5 94 80 95 87 9.2 95 11.3 9.1
T B pemypEossiE /) 22,2 23.3 220 240 18.7 25.2 158 18.7 151 23.4 21.8 20.2 25.2
P BEfEAtas oug/m' 5182 1- A M o o o o0 o o 0 o o 0 0 0 0
BMEEBK 28 31 30 29 29 30 31 30 31 31 28 31 359
= IE'] 3B 5E B P 700 742 717 716 711 718 743 719 742 741 670 741 8660
M 2 AFRHIE (g/n’) 9.1 1.1 99 7.1 7.7 10.2 86 10.2 9.2 10.2 9.7 120 9.6
T 3 BEHEORSIE (g/n) 6.2 22.9 23.8 24.3 18.9 247 17.0 18.6 159 22.2 22.4 22.0 24.7
HEHEA35. Oug/m* E B % - B & 0 0 0 0 0 0 0 0 0 0 0 0 0
BMAEBK 30 28 30 31 29 30 31 30 31 31 28 31 360
BORE IR 716 706 715 733 707 711 742 716 740 732 664 735 8617
Eﬁﬁ BT 1E (ug/m°) 6.9 84 68 43 44 72 64 65 51 53 15 68 6.3
H 5 BEHEOSSE (ug/n) 200 25.8 21.3 17.0 15.9 16.7 13.4 150 10.3 12.4 19.9 17.3  25.8
HEHEA35. Oug/m* E B % - B & 0 0 0 0 0 0 0 0 0 0 0 0 0
R R 30 31 30 29 31 30 31 30 31 31 28 31 363
& T BIEEER 716 739 717 707 740 718 742 717 739 742 670 742 8689
B m> A EiE (ug/m) 1.2 11.3 9.6 80 87 109 9.7 10.6 10.6 124 11.0 12.1 10.5
B 7 pemEossiE (ug/nd) 22.6 251 21.7 245 19.0 25.1 19.3 23.0 17.0 26.7 24.0 21.0 26.7
HEHEA35. Oug/m* E B % - B & 0 0 0 0 0 0 0 0 0 0 0 0 0
N BHRIEBRH 30 31 30 31 30 30 31 30 31 31 28 31 364
N ¥ BITERERS 717 741 717 740 737 716 740 718 742 141 668 742 8719
#OR BEHIE (ug/m) 9.6 105 81 55 63 86 86 92 83 93 96 104 87
T B pemypossiE /) 21.9 285 20.9 15.2 18.1 18.9 154 19.1 19.7 241 24.6 19.7 28.5
P B sfBAtas oug/mn' 5182 1- A o o o o o o 0 0o 0o 0 0 0 0
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BUNRLFIRYME  (PMy 5 - BAIE)

i %‘1 - SF34E SRAE st
OB A5 58 | 68 7B 88 98 10 11A 12 1A 2B | 3H
BMEEBK 30 28 30 29 31 30 31 30 28 21 27 31 346
£ f;g 3B 5E B P 718 703 717 713 741 717 742 717 674 546 653 742 8383
B o= AFHEue/n) 12.4 145 10.3 86 9.9 11.0 11.8 13.8 13.4 141 125 13.4 12.1
T = BEYEORSE Wz/n) 23.3  41.2 22,5 19.2 20.6 23.7 20.8 27.5 250 27.2 29.0 23.0 41.2
HEHEA35. Oug/m* E B % - B & 0 1 0 0 0 0 0 0 0 0 0 0 1
g BHAEAH 30 31 30 31 29 30 31 30 31 31 28 31 363
B f RIERERT 717 742 717 739 714 716 742 718 739 742 670 742 8698
R A FEHIE g/’ 1.9 12.5 9.4 82 9.0 106 11.0 11.0 9.7 10.0 10.6 12.5 10.5
T B pemypEossiE /) 24.7 31.8 23.2 16.4 18.8 26.5 23.4 22.0 16.7 19.8 20.9 19.6 31.8
BT BB Ass. Oue/m & 1B 2 - ALY 0 0 0 0 0 0 0 0 0 0 0 0 0
¥ OAMAEAR 30 31 30 19 29 30 31 30 31 31 28 31 351
& I mesn 718 742 718 469 707 719 742 718 742 739 669 738 8421
i EJ B T11E (ug/m) 10.4 1.1 9.9 7.6 81 102 87 10.2 10.0 10.5 11.4 13.4 10.2
T o BEHEOSSIE (ug/n) 21.6  23.4 22.0 23.9 18.8 25.1 18.2 18.8 16.5 26.8 24.0 24.8 26.8
B BEHEAS5. Oug/m*EHBZ - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
m ADAEEH 30 31 30 29 31 30 31 30 31 31 28 31 363
£ 1 BIERR 717 741 717 7100 741 717 742 718 742 742 669 742 8698
WA BEMEug/m) 131 13.9 10.2 82 85 10.7 120 13.8 146 159 150 14.4 12.5
T pEyEosSiE /) 23.2 43.8 21.0 17.7 19.5 23.3 20.0 26.9 256 29.9 28.3 23.0 43.8
B 5 piiEpa5, Ous/m % B 2 - B3 0 1 0 0 0 0 0 0 0 0 0 0 i
BMEEBK 30 31 30 31 31 30 31 30 31 31 28 31 365
= B RERY 719 741 719 743 743 719 742 716 743 744 671 741 8741
Bt BEHE g/ 1.5 12.6 11.8 9.3 9.7 12,9 10.9 10.9 83 10.9 10.8 13.0 11.0
T R pryEossiE ug/n) 29.0 28.3 27.2 252 28.0 32.4 27.0 26.7 16.6 29.3 23.2 28.0 32.4
HEHEA35. Oug/m* E B % - B & 0 0 0 0 0 0 0 0 0 0 0 0 0
BMEEBK 30 31 30 30 31 30 31 30 31 31 28 31 364
w o BIE R 720 744 720 719 744 720 744 720 742 744 672 744 8733
i B TH4E (ug/m) 1.2 1.2 95 91 9.4 104 11.1 11.8 11.6 11.9 12.1 12.8 11.0
i A TEOSSIE (ug/m) 26.4 255 16.4 12.2 13.2 13.5 13.8 14.8 13.4 17.0 16.0 17.8 26.4
HEHEA35. Oug/m* E B % - B & 0 0 0 0 0 0 0 0 0 0 0 0 0
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BNRLFIRYME  (PMy 5 - BAIE)

i %‘1 - 434 SRAE st
B 48 58 68 | 7A 88 98 | 108 1B | 12 1A 2B 3R
AEDAERR 26 22 6 18 31 30 31 30 31 31 28 31 315
g g MENH 673 633 165 444 740 716 739 717 739 742 670 742 7720
5 g BF9ME (g/n) 9.5 10.8 6.1 7.1 1.3 86 85 87 1.3 86 89 104 8.7
o AEHEDSSIE (g/m) 25.2 271 11.9 16.2 16.9 22.8 17.8 17.6 149 20.5 19.6 22.6 27.1
HEHEA35. Oug/m* E B % - B & 0 0 0 0 0 0 0 0 0 0 0 0 0
x EMAEEHK 30 31 30 31 31 30 31 30 31 31 28 31 365
= AIERR 719 744 718 743 743 719 742 719 742 743 671 743 8746
B NE B 4E (ug/m) 0.5 10.4 9.8 89 7.4 11.0 87 97 16 87 9.0 124 9.5
T 23 g EyiEoRSE (ug/n) 27.7 235 25.0 19.0 18.5 23.9 223 18.8 18.2 245 19.1 27.2 21.7
BB 5 il 4935, 0pe/m’ % 42 % 1= B 2 0 0 0 0 0 0 0 0 0 0 0 0 0
x  AMAIERH 30 7 1 31 30 31 31 28 31 220
= B BIEER 720 168 40 743 718 743 743 672 744 5291
B NE B 4E (ug/m) 1.8 10.4 7.2 80 103 95 102 105 10.7 10.1
T 23 g EyEoRSE (ug/n) 29.2 16.1 7.2 22,2 21,3 17.8) 24.5 237 19.3 29.2
B R g sfEntss oue/n'E B 1AM 00 o o o o o 0o 0o 0
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®—Bfbm#E  (C0: AlE)

" %" - SH3E SHIME st
> AR | 58 6A 1A 88 9A 108 1A | 12A 1A 2B | 3A

BOAE B 30 31 30 31 31 30 31 30 31 31 28 31 365

g REESH 715 740 713 740 738 716 738 713 739 740 668 737 8697

o E B #494E (ppm) 03 03 02 02 02 03 03 03 03 04 03 03 03

= E] 8 B R 13 20ppn % 42 X 1= [E 3 0 0 0 0 0 0 0 0 0 0 0 0 0

A F 5 {EA 10ppm%E 48 % 1= A %K 0 0 0 0 0 0 0 0 0 0 0 0 0

T 1 BRAE D RS {E (ppm) 05 06 04 04 05 07 05 07 07 08 07 06 08

B aemiEnssiE oo 03 04 03 03 04 03 04 04 04 06 05 04 06

1 BRI {EA30ppmil k0 B %k 0 0 0 0 0 0 0 0 0 0 0 0 0

EMAE A 1 31 30 31 31 30 31 30 31 31 28 31 346

381 72 B 270 737 715 736 737 716 738 713 737 740 666 739 8244

#  AEHE (ppm) 03 03 02 01 01 02 02 03 03 03 03 03 02

fg *g 8 BRI A\ 20ppm £ 48 2 - E %K 0 0 0 0 0 0 0 0 0 0 0 0 0

A F{EA 10ppm%E 48 % 1 B %k 0 0 0 0 0 0 0 0 0 0 0 0 0

o %_F 1 BRI ED RS 1E (ppm) 05 05 06 03 04 05 10 06 08 08 07 06 1.0

B ED B E (opm) 03 04 03 02 03 03 03 04 04 04 04 03 04

1 BRI {EAS30ppmil £ 0 B %k 0 0 0 0 0 0 0 0 0 0 0 0 0

BOAE A 30 31 30 29 31 30 31 30 31 31 28 31 363

?55 381 52 B 716 740 716 701 740 715 740 716 739 740 666 739 8668

_n BF91E (op) 02 02 02 01 01 02 02 04 03 03 03 03 02

f%'i = g EERI{EA20ppnE #E % 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0

T B BEHEI10ppmE B Z 1= BE 0 0 0 0 0 0 0 0 0 0 0 0 0

B 1 EpiED RS E (opn) 05 06 03 02 03 04 05 06 07 07 06 04 07

*}iﬂf B 418 ) & = {E (opm) 03 04 03 02 03 03 03 04 04 05 05 03 05

1 B RE{EA 30ppmil 0 B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
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Q@F A% vikibKkE  (NMHC : A 5i{E)

- %‘1 - SHE S st
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
3R 7 B 704 731 704 733 731, 710 734 709 732 613 _ 665 _ 732 8498
B F 1 (ppmC) 0.10 0.13 0.10 0.10 0.13 0.11 007 006 0.07 0.08 008 0.06 0.09
- % 6 ~ 9 BFIZ$ I+ 5 B FEHE (ppmC) 0.09 0.13 0.10 009 0.14 0.12 006 007 0.06 0.09 008 0.08 0.09
5 m 6~ ORMEAK 30 30 30 29 31 30 31 30 30 26 28 31 356
W @ 6~ 9F 3EMTYENREIE (opnC) 0.28 0.43 0.14 012 0.24 0.25 015 033 0.18 018 012 0.62 0.62
6~ 9B 3 BRI H{E D SIEE (opmC) 0.03 0.06 005 007 008 006 002 002 002 005 004 002 002
6 ~ O B 3 BERIEH{EAN. 20ppmCEHE X 1= A% 1 2 0 0 3 1 0 2 0 0 0 2 11
6 ~ O B 3 BERIEH{EAY. 31ppmCEHE X - A% 0 1 0 0 0 0 0 1 0 0 0 1 3
3R 7 B 705 735 712 736 734 709 735 711 728 _ 735 _ 662 _ 736 8638
% B TFHfE (ppnC) 0.02 0.04 005 005 003 004 006 005 004 005 005 007 005
F 6~ 9B5IZ&I+ 5 AFHIE (ppnC) 0.02 0.04 004 005 003 004 005 005 005 006 006 007 005
IE'] A 6~9KEERY 30 31 30 31 29 29 30 29 30 29 26 31 355
w6~ 93 EMTIEDREIE (ppnC) 0.06 0.06 009 013 0.08 007 010 0.11 012 024 018 0.16 0. 24
T 6~ 9k 3 ERITIEDRIEE (ppmC) 0.00 0.02 002 002 0.0 003 003 003 000 003 003 006 000
B 6~ o 3 BRI T A, 20ppnCE R - B 0 0 0 0 0 0 0 0 0 1 0 0 1
6 ~ O B 3 BERIEH{EAY. 31ppmCEHE X - A% 0 0 0 0 0 0 0 0 0 0 0 0 0
3R 7 B 696 736 626 726 735 714 7138 714 737 7138 670 _ 739 8569
g A FHIE (ppnC) 0.05 0.06 0.04 003 004 008 009 007 006 008 007 009 006
g E 6709 B2 85+ 2 B FEHE (ppmC) 0.06 0.08 005 004 004 009 011 009 006 010 009 0.10 0.08
5 B 6~oMAEAK 28 29 27 30 30 29 31 29 28 28 28 29 346
B 6~ 9k 3BMTYENRSIE (ppnl) 0.11 0.39 0.16 008 0.16 0.15 0.49 044 0.13 0.21 032 0.21 0.49
B 6~ ot 3 BRI 191EDRIEE (ppmC) 0.02 0.0 000 001 002 003 006 002 001 005 004 005 000
B 6~ o3RI THEA. 20ponCE B 2 - B 0 1 0 0 0 0 3 2 0 1 1 1 9
6 ~ O B 3 BERIEH{EAY. 31ppmCEHE X - A% 0 1 0 0 0 0 1 1 0 0 1 0 4
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EA R pfbkE  (NMHC : A BI{E)

- %‘1 - SHE S st
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
3R 7 B 707 733 671 433 734 702 735 710, 735 _ 737 _ 664 730 8291
B F 1 (ppmC) 0.08 0.06 008 010 0.07 0.06 012 009 0.09 010 008 0.08 008
# 6~ 9BIzH+2 8 THE (ppmC) 0.09 0.06 010 010 0.08 007 014 012 012 012 010 0.11 0.10
f;g *g 6 ~ O B BIE B % 30 31 28 18 31 29 31 30 31 31 28 31 349
& 4 6~ 9F 3BT IYENDREIE (opnC) 0.24 0.13 0.26 016 0.16 0.15 0.21 023 0.22 0.20 023 0.23 0.26
B 6~ 9B 3 KT HEDSEE (opmC) 0.03 0.03 000 005 0.04 002 005 003 000 002 003 004 000
6 ~ O B 3 BERIEH{EAN. 20ppmCEHE X 1= A% 2 0 3 0 0 0 3 1 2 0 1 2 14
6 ~ O B 3 BERIEH{EAY. 31ppmCEHE X - A% 0 0 0 0 0 0 0 0 0 0 0 0 0
& AUEFR 714 716 716 735 740 714 740 684 726, 738 _ 666 677 8566
= AFHE (ppC) 0.06 0.06 0.06 009 0.06 004 006 006 006 008 008 008 007
I 6~9B=#HI+ 5B FHIE (ppnC) 0.07 0.05 005 009 006 004 006 007 007 009 008 009 007
f%'} = 6~ oREERY 30 30 30 31 31 30 31 28 30 31 28 28 358
& B 6~ 9k 3BMTYENRSIE (opnC) 0.13 0.09 011 014 0.12 007 012 012 0.13 019 012 0.14 0.19
B 6~ 0B 3 BRI 11ED S EE (ppmC) 0.02 0.02 001 004 000 002 003 002 002 003 004 003 000
% 6 ~ O B 3 BFRIEH{EAN. 20ppmCEHE X 1= A% 0 0 0 0 0 0 0 0 0 0 0 0 0
6 ~ O B 3 BERIEH{EAY. 31ppmCEHE X - A% 0 0 0 0 0 0 0 0 0 0 0 0 0
3R 7 B 716 741 716 739 739 711 738 715 _ 738 _ 739 _ 668 737 8697
= A FH1E (ppnC) 0.06 0.06 005 005 004 005 005 006 006 005 005 006 005
L = 6~ 9BFI#HI+3AFH{E (opnC) 0.07 0.06 0.06 004 005 006 005 007 007 006 006 007 006
f%'} B 6~ 9REERS 30 31 30 31 31 30 31 30 31 31 28 30 364
B 6~ 9 3EBMTYENRSIE (opnl) 0.12 0.18 0.12 009 0.11 0.14 009 012 0.21 022 011 0.16 0.22
B 6~ ot 3 BRI 191EDRIEE (ppmC) 0.03 0.0 003 000 000 001 002 003 002 002 000 003 000
B 6~ o3RI THEA. 20ponCE B 2 - B 0 0 0 0 0 0 0 0 1 1 0 0 2
6 ~ O B 3 BERIEH{EAY. 31ppmCEHE X - A% 0 0 0 0 0 0 0 0 0 0 0 0 0
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EA R pfbkE  (NMHC : A BI{E)

- %‘1 - SHE S st
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
g PIEE 716 740 715 734 739 714 738 716 _ 738 _ 739 _ 668 735 8692
g B FHfE (ppnC) 0.05 0.06 005 004 005 005 004 006 007 007 007 006 005
I 6~ 9B=#I+% B FHIE (ppnC) 0.04 0.05 005 004 005 004 004 006 007 007 007 006 005
f%'} = 6~ oREERY 30 31 30 31 31 30 31 30 31 31 28 31 365
& B 6~ 9k 3BMTYENRSIE (opnC) 0.06 0.07 006 013 0.06 007 006 011 011 011 009 009 013
B 6~ 0B 3 BRI 11ED S EE (ppmC) 0.02 0.03 003 001 002 002 003 004 004 006 005 002 00
% 6 ~ O B 3 BERIEH{EAN. 20ppmCEHE X 1= A% 0 0 0 0 0 0 0 0 0 0 0 0 0
6 ~ O B 3 BERIEH{EAY. 31ppmCEHE X - A% 0 0 0 0 0 0 0 0 0 0 0 0 0
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A%

(CH, : A BI1iE)

- %‘1 - SHE S st
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38

3R 7 B 704 731 704 733 731, 710 734 709 732 613 _ 665 _ 732 8498
- % B F 1 (ppmC) 1.96 1.96 1.94 1.8 1.8 1.95 1.95 200 201 201 202 200 1.96
5 @ 6~ 9BIZHIT2ATHIE (0 1.96 1.96 1.95 1.89 1.8 1.95 1.95 200 202 203 203 200 1.97
& fg 6~ 9EAERHK 30 30 30 29 31 30 31 30 30 26 28 31 356
i 6~ 9 3 FRITHEDSSIE (opmC) 200 2.00 2.00 1.94 1.98 205 201 205 208 208 207 206 208
6 ~ O B 3 BS RS F B D & & 1E (ppmC) 193 1.90 1.90 1.8 1.8 1.87 1.90 1.96 1.98 1.97 1.99 1.95 1.83
* BIERE 705 735 712 736 734 709 735 711 728 _ 735 662 _ 736 8638
T B F#{E (opmC) 1.94 1.93 1.93 1.87 1.87 1.92 1.94 1.98 1.99 1.98 200 1.99 1.95
IE'] A 6~9BKIZEF+5 B FEH{E (ppmC) 1.94 1.93 1.94 1.8 1.8 1.91 1.94 1.98 1.99 1.98 1.99 1.98 1.94
m D e~omAEAR 30 31 30 31 29 29 30 29 30 29 26 31 355
T 6~ 9k 3ERITYIED RS E (ppmC) 1.98 202 1.98 1.93 1.97 200 201 202 203 202 203 203 203
B 6 ~ o Bt 3 BRT 1B D BAESE (ppiC) 1.88 1.85 1.89 1.8 1.83 1.84 1.89 1.92 1.94 1.94 1.95 1.94 1.83
g BIEER 696 736 626 726 735 714 7138 714 737 _ 7138 670 _ 739 8569
z E B F 1 (ppmC) 1.96 1.96 1.92 1.8 1.8 1.95 1.98 1.98 1.99 1.97 1.98 1.98 1.95
5 B 6~ 9FI=H1F 5 A T9E (ppnC) 1.96 1.97 1.93 1.90 1.8 1.96 1.98 1.99 200 1.98 1.99 1.99 1.96
= B 6~oBmERH 28 29 27 30 30 29 31 29 28 28 28 29 346
B 6~ om3BMTHIEDSSIE (pomt) 202 201 1.98 1.95 1.98 210 203 203 203 203 203 204 210
B 6~ o 3 BRI T ED RIESE (ppnC) 1.90 1.89 1.86 1.8 1.8 1.82 1.93 1.93 1.96 1.92 1.96 1.92 1.82
3R 7 B 707 733 671 _ 433 734 702 735 710, 735 _ 737 _ 664 730 8291
# B EH{E (ppnC) 200 2,02 200 1.93 1.96 206 209 216 217 213 2.07 208 2.06
f;g *g 6 ~ 9 BFIZ$ 1+ B FEHE (ppmC) 209 2,10 2.09 1.99 205 217 2.22 226 228 223 214 217 2.16
T i3 6~ 9BAERHK 30 31 28 18 31 29 31 30 31 31 28 31 349
B 6~ 98 3FMTHEDSSIE (opmC) 2.30 2.39 240 2.29 233 248 256 258 254 256 2.36 249 258
6 ~ O B 3 BS R F B 0 & & 1E (ppmC) 1.94 1.87 1.85 1.83 1.85 1.94 1.99 202 203 200 1.99 1.96 1.83
3R 7 B 714 716 716 735 740 714 740 684 726, 738 _ 666 677 8566
_ X AEiE (ppnC) 1.98 1.98 1.96 1.93 1.93 1.97 1.98 201 200 201 203 202 1.98
f%'} ,?\E 6 ~ 9 BFIZ$ I+ 5 B FEHE (ppmC) 2.00 2.0 200 1.96 1.96 200 202 204 203 204 205 205 201
4 g 6~ 9OFAERY 30 30 30 31 31 30 31 28 30 31 28 28 358
¥ 6~ OB 3 ERETEHIENDRESE (ppmC) 209 211 214 217 213 2100 210 210 210 211 211 213 2.17
6 ~ O B 3 BE R F B 0D & & 1E (ppmC) 192 1.85 1.83 1.8 1.8 1.89 1.94 1.97 1.98 1.95 1.98 1.90 1.83
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A8 (CH,: ARIE)

- %‘1 - SHE S st
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38
IR 716 741 716 739 739 711 738 715 _ 738 _ 739 _ 668 737 _ 8697

= BFfE (ppmC) 1.98 1.98 1.96 1.8 1.91 1.97 200 204 204 203 204 203 1.99

f%-} B 6~ 9Bz % B FE{E (ppmC) 200 201 200 1.92 1.94 200 205 208 207 206 206 206 202

& B 6~9BAERH 30 31 30 31 31 30 31 30 31 31 28 30 364
B 6~ om3BMTHIEOSSIE (pomt) 212 212 215 214 207 223 217 217 215 215 2.16 218 2.23
B 6~ o 3 BRI T ED RIESE (ppnC) 1.92 1.82 1.85 1.8 1.8 1.86 1.94 1.99 200 1.97 200 1.92 1.8

£ AR 716 740 715 734 739 714 738 716 738 _ 739 _ 668 735 8692

_ B AEiE (ppmC) 1.97 1.97 1.95 1.94 1.92 1.96 1.99 203 203 203 202 201 1.98

f%-} %\a 6 ~ 9 BFIZ$ I+ 5 B FEHE (ppmC) 200 2.00 1.98 1.97 1.95 200 205 208 207 206 204 204 202

4t 6~ 9OBAERH 30 31 30 31 31 30 31 30 31 31 28 31 365

B 6 ~ 9By 3 BRI T 91BN RS 1E (ppmC) 211 2,12 212 247 212 219 214 217 219 217 214 217 2.47
6 ~ O B 3 BS R F B 0 & & 1E (ppmC) 1.92 1.82 1.82 1.8 1.8 1.86 1.94 1.99 1.98 1.97 200 1.90 1.81
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&miKkE (THC : ARIfE)

- %‘1 - SHE S st
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38

3R 7 B 704 731 704 733 731, 710 734 709 732 613 _ 665 _ 732 8498
- % B F 1 (ppmC) 206 2.09 204 1.98 201 206 202 206 208 209 209 206 205
5 @ 6~ 9BIZHIT2ATHIE (0 205 209 205 1.99 203 207 201 207 208 212 211 208 2.06
& fg 6~ 9EAERHK 30 30 30 29 31 30 31 30 30 26 28 31 356
i 6~ 9 3 FRITHEDSSIE (opmC) 2.23 232 211 205 218 220 209 236 221 221 218 2.61 2.6
6 ~ O B 3 BS RS F B D & & 1E (ppmC) 1.98 2,01 1.96 1.93 1.94 1.99 1.96 202 202 201 203 1.99 1.93
* BIERE 705 735 712 736 734 709 735 711 728 _ 735 662 _ 736 8638
T B F#{E (opmC) 1.97 1.97 1.98 1.93 1.90 1.96 200 203 204 203 205 206 1.99
IE'] A 6~9BKIZEF+5 B FEH{E (ppmC) 1,96 1.97 1.98 1.93 1.91 1.96 1.99 203 204 204 205 205 1.99
m D e~omAEAR 30 31 30 31 29 29 30 29 30 29 26 31 355
T 6~ 9k 3ERITYIED RS E (ppmC) 2.0 2.04 203 200 1.99 205 207 212 213 223 217 212 2.23
B 6 ~ o Bt 3 BRT 1B D BAESE (ppiC) .92 1.90 1.93 1.8 1.85 1.89 1.92 1.96 1.99 1.98 200 202 1.85
g BIEER 696 736 626 726 735 714 7138 714 737 _ 7138 670 _ 739 8569
z E B F 1 (ppmC) 200 202 1.96 1.92 1.91 203 207 205 205 205 205 207 202
5 B 6~ 9FI=H1F 5 A T9E (ppnC) 202 205 1.98 1.94 1.92 205 210 207 206 208 209 209 2 04
= B 6~oBmERH 28 29 27 30 30 29 31 29 28 28 28 29 346
B 6~ om3BMTHIEDSSIE (pomt) 209 2.36 207 201 209 221 242 238 215 220 2.33 222 242
B 6~ o 3 BRI T ED RIESE (ppnC) 1.94 1.97 1.87 1.87 1.85 1.87 204 200 200 200 201 1.98 1.85
3R 7 B 707 733 671 _ 433 734 702 735 710, 735 _ 737 _ 664 730 8291
# B EH{E (ppnC) 210 2.08 2.08 202 203 212 221 225 226 223 215 216 2.15
f;g *g 6 ~ 9 BFIZ$ 1+ B FEHE (ppmC) 219 216 2,19 2,10 213 2.24 2.37 2.39 239 235 224 229 226
T i3 6~ 9BAERHK 30 31 28 18 31 29 31 30 31 31 28 31 349
B 6~ 98 3FMTHEDSSIE (opmC) 252 2.51 2,49 240 249 258 274 272 2.71 2.68 257 2.69 2. 74
6 ~ O B 3 BS R F B 0 & & 1E (ppmC) 1.97 1.89 1.90 1.93 1.90 1.99 209 205 204 205 205 200 1.89
3R 7 B 714 716 716 735 740 714 740 684 726, 738 _ 666 677 8566
_ X AEiE (ppnC) 205 2.04 202 202 1.98 201 205 208 207 209 210 210 2.05
f%'} ,?\E 6 ~ 9 BFIZ$ I+ 5 B FEHE (ppmC) 208 207 205 204 201 205 208 211 210 213 213 213 2.08
4 g 6~ 9OFAERY 30 30 30 31 31 30 31 28 30 31 28 28 358
¥ 6~ OB 3 ERETEHIENDRESE (ppmC) 218 2,16 2.21 2,30 223 215 216 218 2.21 2.23 223 223 2.30
6 ~ O B 3 BE R F B 0D & & 1E (ppmC) 1.94 1.88 1.87 1.8 1.91 1.90 1.98 1.98 201 202 203 1.94 1.87
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£pfbkER  (THC : A RIME)

w2 - SkE: SlE: st
2 A8 | 58 68 | 1A 8A 98 108 1A | 12A 1A @ 28 | 38

IR 716 741 716 739 739 711 738 715 _ 738 _ 739 _ 668 737 _ 8697
= BFfE (ppmC) 204 203 201 1.94 1.95 202 204 209 210 208 209 2.09 2 04
f%-} B 6~ 9Bz % B FE{E (ppmC) 208 207 206 1.96 1.98 206 210 215 215 212 212 213 2.08
& B 6~9BAERH 30 31 30 31 31 30 31 30 31 31 28 30 364
B 6~ om3BMTHIEOSSIE (pomt) 2,23 2.28 2.22 222 212 2,32 2.24 228 232 230 225 228 232
B 6~ o 3 BRI T ED RIESE (ppnC) 1.98 1.85 1.88 1.8 1.8 1.91 1.99 204 203 203 202 1.95 1.85
£ AR 716 740 715 734 739 714 738 716 738 _ 739 _ 668 735 8692
_ B AEiE (ppmC) 200 202 200 1.98 1.97 201 204 209 209 210 209 207 2. 04
f%-} %\a 6 ~ 9 BFIZ$ I+ 5 B FEHE (ppmC) 204 205 203 201 200 204 209 214 214 213 211 2,10 2.07
4t 6~ 9OBAERH 30 31 30 31 31 30 31 30 31 31 28 31 365
B 6 ~ 9By 3 BRI T 91BN RS 1E (ppmC) 217 218 217 2.60 2.18 2.24 219 225 2.27 2.25 223 2.26 2.60
6 ~ O B 3 BS R F B 0 & & 1E (ppmC) 1.96 1.85 1.85 1.84 1.87 1.92 1.98 203 203 205 206 1.92 1.84
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